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[Participant ID
Participant Name
Test Center Name iON Digital Zone iDZ 1 Sector 62
Test Date 14/07/2024
Test Time 8:30 AM - 10:30 AM
Subject Special Education Teacher

Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092,

Q1 3FEch e w7 F R W, TRRE 9 smenwEg TE A § O G Bt aie @
THEAW § A 5§ TN UF WAR AN §| HA-H1 HeW-HAF O9F, 3F FAF § HatOd o 87

(1T WIS ER-TAE oA, TR F FE; A FET-FAE F e fPufy o amnfe 7 d)
Ans X 1. MAGIC : DJHBN

v 2 UMBRA : BSCNW

A3 CHAIR : SJBID

X4 HORSE : FTSPI

Question ID
Option 1 ID
Option 2 ID
Option 31D

: 630680896506

: 6306803511998
: 6306803511996
1 6306803511995
Option 4 1D :

6306803511997

Q2 Pl wer, FEr AR T SEer @1 SRT AR 35S A% BT 10 5o F 3ot AT o
e @8 AN # @ R A AT Wi

@) S&4GBA4RSHE1I%@KITESMASS87~2Q2+«N6S8 @Y
Uy oy udw ¥ BEE ¥ T3 F 85 g UF O 3R &% e uF Haw 5

A
ns &1 zr
X2 TUH
X 3. =T
X4 g
Question ID
Option 1 ID
Option 2 ID
Option 31D

Option 41D :

: 630680896504

: 6306803511989
: 6306803511987
: 6306803511990

6306803511988



dell
Stamp


Q3 Z90T &1 A T FFER MN W I8 1 T, &1 7% T & §E E90T St H owaa S

Ans

1

<EEE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896511

6306803512016
6306803512018
6306803512017
6306803512015




Q4  Fewst & =R waewa fow e E e @ O e g @ whaae § i o swee B s gem

F T fifET
A X1 (59, 44)
x2 (32, 17)
x 3. (88, 73)
v 4 (97, 79)
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

630680896518

6306803512045
6306803512046
6306803512044
6306803512043

Q5 =7 ey & W= Ao ol T 3@ gER FET § W seR R e wag & s wee

:l

(14 : 196)

(23 : 322)

Ans 1 (21 : 290)

X2 (17 : 228)

X3 (18 : 262)

v 4 (20 : 280)
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID

: 630680896516
: 6306803512037
: 6306803512035

6306803512038

: 6306803512036

Q6 R FEET FH & FUR W, TeEfaiEd TR deREEg § ¥ O e BEve 5t @ e
3R 5F YR UF WHE 949 | - HER-UHg, 3§ OHg § wEOd A8 87

(AT 3T HaR-THE, SOl B TEA O HeR-TEE H 3w fufy w s a7 §)
Ans X 1. BDFH

¢ 2. 0QST

<3 [KMO

X4 PRTV
Question ID :
Option 11D :
Option 2 1D :
Option 31D :

Option 41D :

630680896507

6306803511999
6306803512002
6306803512000
6306803512001




Q7 Ry = @ s ¥, a0 @ e < ¥ AR T ¥, B R wew &

TeA-RES (?) & TUH W AT HUI?
25 =37 -19 %91 +7 =7

Ans <1 715
K 2735
X3 545
X 4 625

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680896512

6306803512019
6306803512021
6306803512022
6306803512020




Q8  frw aw fwedl # ¥ 3W WP W A FSC A ATATEd 4T § oA (7) F T W I
T

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896510

6306803512014
6306803512012
6306803512011
6306803512013




Q9 v = fawredt & @ 3@ wFla & wa Rfew s PEAfafa g@er & vea-foea (7) & e o am

Ans

T

D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896509

6306803512009
6306803512008
6306803512010
6306803512007




Q10 33 aofarer w7 ¥ AR T & TE gEen d FeA-FEA (?) F T W FT AT FAR?
MUB, QYF, UCJ, YGN, CKR, ?

Ans X 1. GNU
X 2. GOU
¥ 3 GOV
X4 GNV

Question ID : 630680896508

Option 1 ID : 6306803512004
Option 2 ID : 6306803512005
Option 3 ID : 6306803512003
Option 4 ID : 6306803512006

Q.11 TF TER # OF @ # AT SURT F §U, UF Afger o FE 9E AL A & 9fa & e & geetar
9T & awdR & afer w1 awlEa ¥ F Ty 32

Ans X 1. geT
v 2 A
X3 |\
X 4 FET

Question ID : 630680896501

Option 1 1D : 6306803511975
Option 2 ID : 6306803511978
Option 3 ID : 6306803511977
Option 4 ID : 6306803511976

Q12 Ry o fawsd # ¥ 30 G€W & wwe fifew S Grafafl guen # vea-faee (7) & T 9w A
T B

158, 175, 192, 209, 226, 243, ?

Ans X1 258
v 2. 260
X 3. 259
x4 261

Question ID : 630680896514

Option 11D : 6306803512030
Option 2 ID : 6306803512028
Option 3 ID : 6306803512029
Option 4 ID : 6306803512027




Q.13 few 71 weat sk frvwet #1 oo & 9wl 77 AR g Fe # & T Tl wew B, o & 9
WHEEDS: A Tedt @ B wde @6 8, 57 fifaw & R aw Greedt # @ se-ane e, suat
&7 Alfehdh T 8 3TAT HI gHT g

hA:

(A) FT 9T, Fefear &
(B) T ST, I &
(C) =it =1, wizar &
ey

. T oo, ufEar

Il F& sEfeat, afzar £

A o1 Faer BrsEs Il 37THTOT LT g
X 2 Fael TASHY | HFHIOT FIAT 2
xo @ ar Ty | 3 7 & Il SERer e 7
Ko o | AR I ST eEor w2

Option 31D
Option 4 ID

Question ID :
Option 11D :
Option 21D :

630680896503
6306803511984
6306803511983

: 6306803511985
: 6306803511986

Q14 R e et § ¥ 3@ TE w7 OO AT S B e # wafEs (7) F T 9w o

TR 2
217, 227, 244, 268, 289, 337, ?
Ans X 1.:3533
X 2 380
« 3 382
x4 381
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 41D :

630680896515

6306803512032
6306803512034
6306803512031
6306803512033




Q15 Rt S ag §, STt eR A IS M R s el e T4 mm W § 9 &
HYUAT T WEI F8Ad §, a Jid a0 87 ¥ 305 T 9 3T ST 1 SV B § °9 #1 F497 '

AT FHif=Tl

Ans w
« 1. B5aT
X2 B4ar
X3 25T
X4 24aT

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

630680896499

6306803511968
6306803511967
6306803511969
6306803511970

Q.16 F=fflT gdEor & 57 & deanit & WER Teas W, FAE0T A0hET & F |64 & Sen?
125 - 25 + 925 + 37 x 8 = 100

Ans X137 3 125

X2 g 3T 25

v3 25 #R 125

X4 25 3T 37
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID

: 630680896513
: 6306803512026
: 6306803512023

6306803512025

: 6306803512024

Q17 =g faren =1 woe Rfse fowd ded 5@ TR F6 § B 9R R v wg & ged gt
g
(56, 78, 67)
(119, 165, 142)

Ans 1 (99, 33, 88)
X2 (365, 78, 182)
X3 (456, 193, 282)
v (234, 122, 178)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896517

6306803512040
6306803512039
6306803512042
6306803512041




Q18 zw wem # aredl 1 v WA § T TH-gEY ¥ U D FOU {1 3@ TOR F 90 fifew Bwd
TAT FET gl

(et Trder BEr weEl F w9 H FHEET ST Re v oeg F Fevi/eraalEaT fr 5 F YN W
3= THEEY ¥ SO g @ Re)
T S
Ans x 1. i : ﬂ
X 2 corFEET . Tohoddd
X3 ga-FRfeems : =
4 g3 0 H

Question ID : 630680896505

Option 1 ID : 6306803511993
Option 2 ID : 6306803511992
Option 3 ID : 6306803511991
Option 4 ID : 6306803511994

Q19 SmfafET e FI CUATES 9T 3R 38F 3¢ QT 71T 92 & 3eaX &aAT|
C+DHIATFRF C, D a=r T
‘C-DaHEHTEH CDFIFEI
‘C+ D @ TR C, D H oA
‘C x D @ o g R C,DH TR
=TAF U+P-Q+SxR-W A R U+ gag &2

Ans K1- ﬁHT
x 2 1':I*:_?-'I'

X 3. STAS
v 4 WG

Question ID : 630680896502

Option 1 ID : 6306803511980
Option 2 ID : 6306803511979
Option 3 ID : 6306803511981
Option 4 ID : 6306803511982




Q20 o frfewT me @wr &, VENDOR' & ‘RIZVSH % %9 & Fewg far 7 § oo 'JUNGLE' &

‘RYNIPK' & & & eas fham aar &1 38 % s197 & ‘HONEST' &t 5@ TR Feaeg fHar smeem?

Ans X 1. QSLXWI
< 2. RSLWVI
<3 QSLWVI
« 4 RSLXWI

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896500

6306803511972
6306803511971
6306803511974
6306803511973

Section : General Awareness

Q.1 SITUMT 2011 & SIJER, ¥R | HI&RdT R & oy d Fr=faf@a d @ s-a1/@ wu= wdt 8/8?

1. 321 & TreRET & 74.04% ot
1. gt Y HTaTRET &% 82.14% ot
1Il. ARt &t TeRar &= Goul &l gt A 3ifdren ot

Ans X 1.&ad Il &R
X 2. Fhad |
X 3. Fad il
o 4. Faa | eI

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4D :

630680896242

6306803510982
6306803510979
6306803510980
6306803510981

Q.2 YR dfaumr 3@ foredt oft st & foag anTRerar o1 uTaem= hrar @ St 9= dR R 9RA &

ST A FA A FH Q e R @18
Ans X 1.499

X 2.2q9%
o 3.5a%
X 4399

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: 630680896243

6306803510985
6306803510983
6306803510986
6306803510984




Q.3 T fEdia & war & Fr=fafea wfagl & @ dugam, sifamengaes si Reraidsft fradht
iR Hfaai &7
Ans o 1. @Ilcerd

X 2. smRfg

X 3. qmrve

X 4. geh
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896235

6306803510952
6306803510953
6306803510951
6306803510954

Q.4 g g Sit &ffoft WRa & anex ik sviret # thedt, STgt Aaé FAT8a & Aqed | faifeer @1 3 widieh
YT U Tare FRRISIE-SIT & sheeh=n R U Sfoae e faRar, oM

Ans X 1.1764 &l SRR & g5
o 2. 1757 o @R A1 g5
& 3.1746 &1 TR &1 g5
X 4.1760 1 FiSaT A GG

Option 2 ID
Option 3 ID
Option 4 ID

Question ID :
Option 11D :
: 6306803510949
: 6306803510950
: 6306803510947

630680896234
6306803510948

Q.5 F=fefRa d @ -t 76 wRa &1 @ 99 a1 TR A @, D Rraagem & @ s

ST 8?
Ans X 1. TemEst
75 2. gwn
X 3. 7
o 4. I
Question ID : 630680896239
Option 1 ID : 6306803510970
Option 2 ID : 6306803510968
Option 31D : 6306803510967
Option 4 1D : 6306803510969
Q.6 S=TUrET 2011 & wate & forg, faneht cafvh ol |1aR A1+ & g =gaw emy o <f?
Ans X 1.99%
o 2.7 a9
X 3.5a9
X 46Ty
Question ID : 630680896241
Option 11D : 6306803510978
Option 2 ID : 6306803510977
Option 3 ID : 6306803510975
Option 4 ID : 6306803510976




Q.7 <hihaRie foha Isa Y anfAerRes wraT &7

Ans o 1 BgY
X 2. 3Es
X 3. FAfeen
75 4. sty U
Question ID : 630680896237
Option 11D : 6306803510959
Option 2 ID : 6306803510962
Option 3 ID : 6306803510960
Option 4 ID : 6306803510961
Q.8 RO Water Purifying System' & ' RO" &1 quf =0 a=m 82
Ans X 1.Reverse Orientation (Ra<f siifRdam)
X 2. Recover Osmosis (Rerar Siraifaa)
X 3. Reserve Osmosis (ReTd Sireifaa)
«" 4. Reverse Osmosis (Ra¥ sifeifa)
Question ID : 630680896247
Option 1 ID : 6306803511000
Option 2 ID : 6306803511002
Option 3 ID : 6306803511001
Option 4 ID : 6306803510999
Q.9 &Rz uide, R WRA &1 ga& efAoft Sk AT Wi &, Ffaf@a 7 9 fFa o = R@a g?
Ans ¢ 1. 0c ReRR g
X 2. fofea sz giu
X 3. Fred @rdt
X 4. 1A asds
Question ID : 630680896240
Option 1 ID : 6306803510972
Option 2 ID : 6306803510971
Option 3 ID : 6306803510973
Option 4 ID : 6306803510974
Q.10 f=fafEa & & fra fFaf@= i F i @ a=3i 4 g A gar g?
Ans X 1.f@f=cC
o 2. = D
X 3.faaE
X 4 faafma A
Question ID : 630680896246
Option 11D : 6306803510996
Option 2 ID : 6306803510997
Option 31D : 6306803510998

Option 41D :

6306803510995




Q.11 Fr=fafaa 9 @ fFa o= 3 g € 9 i wieht et agen v Y dismn g &t 8, e

Ans

3227 18 a9 3R IUH afdes oy Y Afgenait st 21,500 Hr 7nfles do2r va AT 872
X 1. sy e

o 2. Ramaa me
X 3. 3RIEs

X 4. g

Question ID
Option 1 ID
Option 2 ID
Option 31D

: 630680896230

: 6306803510934
: 6306803510931
: 6306803510932
Option 41D :

6306803510933

Q.12 gfRw wgiewa, St 1% uEriva 6 st o i g, i@ J @ e wsu/de anfRa e &

Ans

HETIT ST 82

o 1. €@

X 2. SruTad ueT
X 3.7foR

X 4. fBeiRe

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896238

6306803510963
6306803510966
6306803510965
6306803510964

Q.13 SHast 2024 # FIH #fgen gidht siiwifte Famefiwmr Aefaf@a 7 @ e wreda e 4 smaifea

Ans

forar mar an?
X 1. hieAEar

o 2.3
X 3. 78 et
X 4. R

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

630680896228

6306803510926
6306803510923
6306803510924
6306803510925




Q.14 fa<fra frdaes & ddu & Frafaf@a § @ w-a1/8 Fu= adt 8/8?

Ans

&Y 1: 91 Rdues & sreman o= it fRrdaes srqede 117 & siavia oma €1
HYF 2: IuS (2) & ETR F 1+ arert A= A daes dhaer Ateram & 921 fohar ST Sehdr 81

Y 3: Iue (3) & SRR A 1A aren fafia fdues dwe & forelt off wem A aer favam s @war 81

X 1. &aa2
X 2.%aa3
X 3.Faa18R2
o 4. Faa 18R 3

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

630680896244

6306803510990
6306803510988
6306803510987
6306803510989

Q.15 fAge gadiy (NPA) 40% Y feeh Iulk Har @ s giv Y f[RAfA |, sadt 2024 7, Rerd da 2

Ans

AT T Sigud R Fud Har A gfeg vwanfaa Fh
o 1.50%

X 2.30%
X 3.60%
X 4.35%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896232

6306803510941
6306803510939
6306803510942
6306803510940

Q.16 e T Mk Y FafeifRa 7 @ fFw geaes A sish svft § wifdwr srereft qReepR 2023 vt

Ans

feram?
X 1. @S 591 ¢ 2R
X 2. 31T & ofged |t AeR fore’
X 3. i g ofia fgrgs’
o 4. JgH 3 T ST

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896236

6306803510955
6306803510958
6306803510956
6306803510957




Q.17 & wfwsa 3 5 S9ad), 2024 Rt T _____ WIS Fil et onra @ aef 2021-26 H srafd & R
wrafaae & forg gt fasm d=rera i sifer agergef atsr "PRITHvi Vigyan (PRITHVI/gea)"
it depd & 81

Ans X 1.5267

o 2.4797
X 3.2544
X 4.5400
Question ID : 630680896229
Option 1 ID : 6306803510930
Option 2 ID : 6306803510928
Option 3 ID : 6306803510927
Option 4 ID : 6306803510929
Q.18 ufAufees SiaEd ifE smer A o= fF=afaf@a & @ fra ureafag grr 1784 J 6 7 of1?
Ans X 1. TR SIS fgART aret
o 2. W faferw s
X 3. WarA g™
X 4. W SYF SR
Question ID : 630680896233
Option 1 ID : 6306803510945
Option 2 ID : 6306803510946
Option 3 ID : 6306803510943
Option 4 ID : 6306803510944

Q.19 ¥R Rerd S (RBI) Y wife -ifa afafe (MPC) Zrr 8 fRRwier 2023 =t wiza 34t 2= (key repo
rate) ® 25 SR 3iehl Y Tgtadt i 71 & 3R St ada= d F=fafaa d @ foras 82

Ans X 1.6.75%

X 2.6.25%

o 3.6.50%

X 4.8%
Question ID :
Option 11D :
Option 2 1D :
Option 31D :

Option 41D :

630680896231

6306803510937
6306803510935
6306803510936
6306803510938




Q.20 fA=fafaa & @ wiF-91/@ &y 94 /87

Ans

1. gatea <arTerd & qre ransfier ok o= =manefieit A Agfs wra & agafa grr i st @1
2. gat=a AT & araniar & ug iR 3§ goh fohelt oft cafth @l wRa & & & +fiaw et oft
srared A a1 fonelt mifdepTt & wwer gl & wu & 9l & i srgafa 7 81

3. gat=a <™ & i @i G9e ZR1 Irg-aug R fRuffRa aa= Rar smar g

X 1. Fad2

o 2.1,23R3

X 3. Fhad 1

X 4. a1 siR3
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896245

6306803510992
6306803510994
6306803510991
6306803510993

Section : Arithmetical and Numerical Ability

Q.1

Ans

Arataf@a tr-ams 2016 & 2022 #r 3af™ & Sl &F Fafaat A 3R B garr #fEa wfeee amsr &
Z3eT &

60 #60
2 A
E 50 Vo S 56
20 _=-'ﬁ>' 40
35 —*A
30 (&3 20
~ s —=-0
® 20
10
0
2016 2017 2018 2019 2020 2021 2022
_ Hisd &
e % = X 100%
oo

ofE 2021 # 2= Sl @ Fae #7 78 ga oAt 127 9w o, JEfe &9 B gan fEer #r
TR, FA A g fder &7 a5 AR @ 50% off, O 3W AV g Fuel g Hid g A (2 o
#) frgar ar?

1. 9.9

X2 84

xX3.10.2

X410.8
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 41D :

630680896534

6306803512108
6306803512107
6306803512109
6306803512110




Q2 v JETT uAwr 2.5 57 & 38,245 3R 4 IuF F 29,112 & =T ¥ ¥ TR @S # %
B

Ans X 1.10.5%
X 2.9.0%
X3 8.0%
v 4 8.5%

Question ID : 630680896530

Option 1 ID : 6306803512094
Option 2 ID : 6306803512093
Option 3 ID : 6306803512091
Option 4 ID : 6306803512092

Q3 uF =fET F 357 & 15% & A7 F & T &1 3HF FF FU 70 Ja7 F A woUd 9T A=
=MgT 1 3F 36% HA A & SUE g SAT?

Ans 7
X111—%
15
vz 1712y,
17
11
X3 16—%
17
11
X413—%
13
Question ID : 630680896537
Option 1 ID : 6306803512119
Option 2 ID : 6306803512122
Option 31D : 6306803512121
Option 4 1D : 6306803512120
Q4 15 ofEgwi § @, 9 TGS F T TOF F 30 siET W 160 T fFU, F9th 9 sofEaar o st 15
@fadal % wd @@ ¥ 230 3 T el 57 W & GEN me s g gey (2 H)
|
Ans % 1.1,500
X< 2.900
x 31,000
v 4 1,200

Question ID : 630680896528

Option 11D : 6306803512086
Option 2 ID : 6306803512083
Option 3 ID : 6306803512084
Option 4 ID : 6306803512085




Q5 5 3§ qg v 9fd, IWH Ul Al sEF R Hr og sy 31 39 o s 8 I wEer swE uet it

w4 & shua 3wy 25 @€ ) o, 9 A adw g (@t H) %

Ans X1 66
2 42
X3 B4
X4 36

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

630680896529

6306803512090
6306803512088
6306803512089
6306803512087

Q.6 I 47x6290y6 TH U O 3w T HEAT ¢ T 88 T Fuew &, o REe & ¥ S @ Reew
(x+y) T H=A & T §7

As oy 17
X219
X312
X415

Question ID :

Option 11D :

Option 2 ID

Option 3 ID

Option 4 ID

630680896536
6306803512117

: 6306803512118
: 6306803512115
: 6306803512116

Q7 s EE gET W FT BT T 99 TRT % #0 HeU & 23,600 AU ¥ oY @€ gEe 8% Fne W
3R 9T 3BT T 182% oM I AT ST &, A I oA H 12% F o e F| FE FIT H AA 7
7w (2 #) fee §7

Ans % 1.3,600

X 2. 480

X 33,800

« 4 4,080
Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Option 41D :

: 630680896540

: 6306803512132
: 6306803512131
: 6306803512133

6306803512134




Q8 o R AR g7 T Y F I 5:2 § AR s siiwa w1g 35 a9 1 5 A€ A 34 @t Hr

Ans

Y T A FIA E?
X113 :7
X27:13
X3 5:11
7411 :5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896542

6306803512142
6306803512141
6306803512139
6306803512140

Q9 g #r 3w gEE B AT A 20% S F1 G AT el wAwn 24,800 AR 5,000 H TS =

Ans

gl
X 1. %54 132

X 2.352,134
X 3.%53,142
v 4 351,324

§1 9 gie & T g A A ® 12% ¥ & o g o g % 5w o e 42%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896538

6306803512126
6306803512124
6306803512125
6306803512123




Q.10 & 1% anolr v wren & Rftem et # st & g gew T Afenst sk gost & A
Zfiel &1 EROT # seTae wY HR BT g @ 3 &

Tarsmar

FIRET Y ger T

Afgesit & %

gt %

A

840

55

45

B

220

65

35

200

77

23

360

35

65

450

56

44

F

540

60

40

e D 7 wfgen sl # oo wEw REweT B # 9¥0 wAAiat #7 F6 §E w5 aene G

wiaea 22
Ans X1 152%
2. 164%
X3 157%
X 4. 147%
Question ID : 630680896535
Option 11D : 6306803512112
Option 2 ID : 6306803512114
Option 3 ID : 6306803512113
Option 4 ID : 6306803512111
Q11 gae s #r 2 YernEat ve feaer oier @t 9% wa # Fen 10 ¥ 3K 14 AFs F1 wHw o F
ofE gcde & &1 wEs 280 m B, & fawlda et # o o e 9 o 9% # e & R
T o?
Ans 2
X1.10=
5
.
X 2. 12—
3
3 11 Z
3
.
X 4 13—
5

Question ID
Option 1 ID

1 630680896545

: 6306803512151
Option 21D :
Option 31D :
Option 41D :

6306803512153
6306803512152
6306803512154




Q.12 12 9 & Rw 16% s & & v fRed ol W afis & § sfeq ane 3R afts & @

FoferT =0T 7 e 269.12 ¥ o= (2 #) A9 F

Ans - x1.12,000

x2 11,500

+ 3 10,000

x 410,500
Question ID : 630680896532
Option 1 1D : 6306803512102
Option 2 ID : 6306803512101
Option 3 ID : 6306803512099
Option 4 1D : 6306803512100

Q13 Ak B o 5:3 & 3o & e 50 TR G vF oewd uF BT 5 W & A, B wweh

oS & v g R e o AR A S e S @ 40% @ s e I oad & se F, 3R

FHT AN RBIS T@ A, TAFBFE @I H)

Ans  X'1.16.5
X2 144
X3 222
v 4 18.5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896543

6306803512144
6306803512143
6306803512146
6306803512145

Q14 o= fafss Al 12% TF Twafe es or ¢ 2 uf & 227,440 & = ¥ ofy =ore s
7 ¥ TOfEE B o €, @ TEw 3 ¥ R e & anp T W awaiE s (2 F) ST

e grem?
Ans 1. 12 546

X 210,465
X 310,645
X 4. 11,456

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896531

6306803512098
6306803512095
6306803512096
6306803512097




Q15 12 7o wH F F 36 R F U F wES § AT 20 Afgerd I F F 25 BET F 0@ = oaw
8 ol ¥ Fe % R 3t 6 i & a1g 10 ARe™ 3% w95 ) T 5o A e e F o

T T 87
Ans 1
v 1 29—
13
7
X2 24—
13
1
X3 14—
13
1
X4 13—
29
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896544

6306803512150
6306803512148
6306803512147
6306803512149

Q16 & Frgatt A 3 B 1 99T Few TAW ¥ A F 20% & o T AT AT ¥ AW B # A F R
7T W 2300 Al oX F=r A §) I QU A # 32% F E A FA g, o TohF g H AP

T (2 H) T 77
Ans 11,250
x 21,800
x3 2,100
X 4. 1,500
Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 1D :

630680896539

6306803512127
6306803512129
6306803512130
6306803512128




OV & T et T ARHET AT ST

Ans

10

v 1100 12
X2 80 ST
X 3. 75 SIS
X4 90 ST

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896546

6306803512158
6306803512156
6306803512155
6306803512157

Q18 wr #forr v THet @ sEF Hfha Hew 122,000 W 12%, x% HR 10% & FAEE O e & &
F1E 216,030.08 F 39T §1 ARG SHS S99, TH 2x% F Ued Pe W AT AT, A FHA T He A (2

Ans

#_ @em
x1.16,980
x 214,880
X 318,840
v 4 18,480

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 41D :

630680896541

6306803512136
6306803512135
6306803512138
6306803512137

Q19 zfy Rl urg % 3 e $ B=w 8.5 cm F@T & FT, A IHHN TSHT ATF 1479 wem® TF A

Ans

ofy urg #7 w=e7 0.15 g/om® ¥, HF T F T ST (kg ) %I(TE:?EHWH:&M

xX1.412

X2 573

X3 6.27

¢4 3.37
Question ID : 630680896547
Option 1 ID : 6306803512160
Option 2 ID : 6306803512161
Option 3 ID : 6306803512162
Option 4 ID : 6306803512159




Q20 T=fafEa oF o8 vs wey § 7 Bfées smret A, B, C, D, E, F 3t G & =9% 3k &0
T ¥ o % e @ e §

e ¢ @ OEl Hﬁﬂﬂ?ﬁl—?ﬂ.ﬂ?
& A TEAT = 25,600 AT &Y el FEAT = 19,200

I l %

TTE D AT F & Tese T T Tes @l orE $7 $a §Em & i A 3R C F =es T
T g I O AT TE WIS F4T B2

Ans X1.148 : 81

2 81 : 148

X33:4

X44:3
Question ID
Option 1 ID
Option 21D :
Option 31D :
Option 41D :

: 630680896533

: 6306803512106

6306803512105
6306803512103
6306803512104

Section : Test of English Language and Comprehension

Q.1 Select the segment which has a spelling error in the given sentence. If there is no error, select
'No error'.

The effectiveness of a hair cream depends on the chosen ingrediants and your specific hair
needs.

Ans X 1.The effectiveness of a hair cream
«” 2. depends on the chosen ingrediants
< 3. No error

#5 4. and your specific hair needs

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896219

6306803510891
6306803510892
6306803510894
6306803510893




Q.2 Select the most appropriate meaning of the given idiom.

To call a spade a spade
Ans  # 1. Speak plainly and openly

X 2. Be friendly with the working-class people
< 3. Know the names of tools

5 4. Avoid taking any risks

Question ID : 630680896213
Option 11D : 6306803510870
Option 2 ID : 6306803510869
Option 3 ID : 6306803510867
Option 4 1D : 6306803510868
Q.3 Select the most appropriate option to fill in the blank.
The tomatoes rolled off into all corners of the shop the bag was torn.
Ans X 1.but
« 2. because
< 3. while
5 4.though
Question ID : 630680896208
Option 1 ID : 6306803510850
Option 2 ID : 6306803510849
Option 3 ID : 6306803510847
Option 4 ID : 6306803510848
Q.4 Select the segment which has a spelling error in the given sentence. If there is no error, select
'No error'.
These stations play a critical role in fasilitating communication, data transfer, tracking and
control during the crucial early stages of a satellite’s journey to orbit.
Ans  # 1. These stations play a critical role in fasilitating communication
X 2. the crucial early stages of a satellite’s journey to orbit
< 3. No error
/X 4. data transfer, tracking and control during
Question ID : 630680896218
Option 1 ID : 6306803510887
Option 2 ID : 6306803510889
Option 3 ID : 6306803510890
Option 4 1D : 6306803510888




Q.5 Select the segment which has a spelling error in the given sentence. If there is no error, select

'No error'.

Any voilation of the order banning use of drinking water for gardening would attract a penalty

of Rupees 5000/-the officials said.
Ans X 1.drinking water for gardening would attract

X 2. No error
#X 3. a penalty of Rupees 5000/-the officials said

" 4. Any voilation of the order banning use of

Question ID : 630680896217
Option 1 ID : 6306803510884
Option 2 ID : 6306803510886
Option 3 ID : 6306803510885
Option 4 ID : 6306803510883
Q.6 Select the most appropriate synonym of the given word.
ZENITH
Ans  # 1. summit
X 2. establishment
X 3. foundation
X 4. nadir
Question ID : 630680896216
Option 1 ID : 6306803510880
Option 2 ID : 6306803510882
Option 3 ID : 6306803510881
Option 4 ID : 6306803510879
Q.7 Select the most appropriate meaning of the given idiom.
To give someone free rein means to give
Ans X 1.training in horse riding
< 2. allow them to leave before everyone else
#< 3. the orders to ride a horse and go
" 4. the freedom to do, say, or feel what they want
Question ID : 630680896212
Option 1 ID : 6306803510864
Option 2 ID : 6306803510866
Option 3 ID : 6306803510863

Option 41D :

6306803510865




Q.8 Find the one-word that means the same as the underlined group of words.

Gymnastics as a sport is one that is (relates to one particular different or original
person than to a group or team).

Ans X 1.common
X 2. peculiar

X 3.irregular
+" 4. individualistic

Question ID : 630680896210
Option 1 1D : 6306803510856
Option 2 ID : 6306803510858
Option 3 ID : 6306803510855
Option 4 ID : 6306803510857
Q.9 Select the most appropriate option to fill in the blank.
Rohit had options left when he couldn’t get a cab, he had to take a bus.
Ans X 1. little
X 2.enough
o 3. few
X 4. much
Question ID : 630680896206
Option 1 1D : 6306803510839
Option 2 ID : 6306803510841
Option 3 ID : 6306803510840
Option 4 ID : 6306803510842
Q.10 Select the most appropriate meaning of the given proverb.
Don't judge a book by its cover
Ans X 1.Don't be afraid to give your honest opinion to anyone
/5 2. Check carefully before you buy anything
/X 3. Make use of every opportunity that comes your way
" 4. Don't judge someone or something by appearance alone
Question ID : 630680896214
Option 1 ID : 6306803510872
Option 2 ID : 6306803510871
Option 3 ID : 6306803510874

Option 41D :

6306803510873




Ans

Q.11 Select the most appropriate option to fill in the blank.

Be careful to close the door ___, it makes a loud sound if it bangs.

X 1. freely
X 2. loosely
o 3. slowly
X 4. easily

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896207

6306803510845
6306803510843
6306803510844
6306803510846

Q.12 Given below are four jumbled sentences. Select the option that gives their correct order
forming a meaningful and coherent paragraph.

A. Left untreated, a speech impediment can make it difficult for children to learn to read and

write.

B . Children with speech impediments might also have trouble socializing.
C. Speech impediment, or speech disorder, happens when your child can’t speak at all, or
can't speak so people understand what they're saying.

D. In some cases, a speech impediment is a sign of physical or developmental differences.

Option 41D :

Ans X 1.CBAD
X 2.BDCA
X 3.BCAD
«" 4. CDAB
Question ID : 630680896209
Option 11D : 6306803510853
Option 2 1D : 6306803510851
Option 3 ID : 6306803510854
Option 4 ID : 6306803510852
Q.13 Find the one-word that means the same as the underlined group of words.
Sudha is frequently visiting doctors to get medicines for her cough. (continuing or
occurring again and again for a long time)
Ans X 1.perilous
X 2. pursuant
X 3. permanent
" 4. persistent
Question ID : 630680896211
Option 1 ID : 6306803510862
Option 2 ID : 6306803510859
Option 3 ID : 6306803510861

6306803510860




Q.14 Select the most appropriate antonym of the given word.

PRETENSE
Ans X 1.exasperation

X 2. intensity

< 3. impatience

o 4. reality
Question ID : 630680896215
Option 11D : 6306803510877
Option 2 ID : 6306803510876
Option 3 ID : 6306803510875
Option 4 1D : 6306803510878
Q.15 Select the most appropriate option to fill in the blank.
It was most crucial moment in her life.
Ans X 1.an
X 2.a
X 3.one
o 4.the
Question ID : 630680896205
Option 11D : 6306803510836
Option 2 ID : 6306803510835
Option 3 ID : 6306803510837

Option 41D :

6306803510838




Comprehension:

Read the following passage and answer the questions.

Crying over spilt milk is futile. Crocodile tears are fake and manipulative. Crying wolf too is
false, and dangerous. Indulging in any of the above would be a ‘crying shame’; the most
reprehensible behaviour. And those blubbing Everly Brothers? Leave ‘em to their cryin’ in the
rain! There's no place in polite society for exposure that private. Nothing good’s ever said
about shedding a tear; our intrinsically human emissions of joy, sadness, and frustration.
Because nothing good can come of it, or so we've been convinced.

The patriarchy comes down hard on weeping. ‘Big boys don't cry’ they command, insisting
lads ‘man up’ and plough on amidst upheavals, without examination or even
acknowledgement of their emotions. Our dammed-up waterworks then trickle into every niche
and crevice, not just of our bodies but the body-politic, poisoning it like slow-acting arsenic.
Didn't large-scale, pent-up resentments result in two World Wars, don't they even now trigger
mass turmoil?

When ‘celebs’, especially male, break down in public, such as Cristiano Ronaldo or Novak
Djokovic, derision is generally rained down upon them, as if Charles Dickens hadn't
reprimanded, “Heaven knows we need never be ashamed of our tears, for they are rain upon
the blinding dust of earth..” or Justin Timberlake wailed, “Cry me a river”, unequivocally
encouraging his brethren. Yet, strong women too are exhorted to never give in to such
‘womanly’ infirmity, or be forever stereotyped as ‘the weaker sex’. Growing up in a house full
of stern women, | was taught not to snivel (even the sound of words that denote crying
repel!). Learning to walk in infancy, | already knew | should hold back the tears when | fell and
scraped my knee. My formidable foremothers intended to build character, but | wonder now if
they would have stood me in better stead by allowing me to express anguish.

SubQuestion No : 16

Q.16 The tone of the passage is

Ans

75 1. melancholy
X 2. threatening
«” 3. sarcastic

X 4. moralistic

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896225

6306803510913
6306803510914
6306803510912
6306803510911




Comprehension:

Read the following passage and answer the questions.

Crying over spilt milk is futile. Crocodile tears are fake and manipulative. Crying wolf too is
false, and dangerous. Indulging in any of the above would be a ‘crying shame’; the most
reprehensible behaviour. And those blubbing Everly Brothers? Leave ‘em to their cryin’ in the
rain! There's no place in polite society for exposure that private. Nothing good’s ever said
about shedding a tear; our intrinsically human emissions of joy, sadness, and frustration.
Because nothing good can come of it, or so we've been convinced.

The patriarchy comes down hard on weeping. ‘Big boys don't cry’ they command, insisting
lads ‘man up’ and plough on amidst upheavals, without examination or even
acknowledgement of their emotions. Our dammed-up waterworks then trickle into every niche
and crevice, not just of our bodies but the body-politic, poisoning it like slow-acting arsenic.
Didn't large-scale, pent-up resentments result in two World Wars, don't they even now trigger
mass turmoil?

When ‘celebs’, especially male, break down in public, such as Cristiano Ronaldo or Novak
Djokovic, derision is generally rained down upon them, as if Charles Dickens hadn't
reprimanded, “Heaven knows we need never be ashamed of our tears, for they are rain upon
the blinding dust of earth..” or Justin Timberlake wailed, “Cry me a river”, unequivocally
encouraging his brethren. Yet, strong women too are exhorted to never give in to such
‘womanly’ infirmity, or be forever stereotyped as ‘the weaker sex’. Growing up in a house full
of stern women, | was taught not to snivel (even the sound of words that denote crying
repel!). Learning to walk in infancy, | already knew | should hold back the tears when | fell and
scraped my knee. My formidable foremothers intended to build character, but | wonder now if
they would have stood me in better stead by allowing me to express anguish.

SubQuestion No : 17

Q.17 The most appropriate antonym of the word “intrinsically”

Ans

" 1. superficially
< 2. eventually

7< 3. fundamentally
75 4. ultimately

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896224

6306803510907
6306803510910
6306803510908
6306803510909




Comprehension:

Read the following passage and answer the questions.

Crying over spilt milk is futile. Crocodile tears are fake and manipulative. Crying wolf too is
false, and dangerous. Indulging in any of the above would be a ‘crying shame’; the most
reprehensible behaviour. And those blubbing Everly Brothers? Leave ‘em to their cryin’ in the
rain! There's no place in polite society for exposure that private. Nothing good’s ever said
about shedding a tear; our intrinsically human emissions of joy, sadness, and frustration.
Because nothing good can come of it, or so we've been convinced.

The patriarchy comes down hard on weeping. ‘Big boys don't cry’ they command, insisting
lads ‘man up’ and plough on amidst upheavals, without examination or even
acknowledgement of their emotions. Our dammed-up waterworks then trickle into every niche
and crevice, not just of our bodies but the body-politic, poisoning it like slow-acting arsenic.
Didn't large-scale, pent-up resentments result in two World Wars, don't they even now trigger
mass turmoil?

When ‘celebs’, especially male, break down in public, such as Cristiano Ronaldo or Novak
Djokovic, derision is generally rained down upon them, as if Charles Dickens hadn't
reprimanded, “Heaven knows we need never be ashamed of our tears, for they are rain upon
the blinding dust of earth..” or Justin Timberlake wailed, “Cry me a river”, unequivocally
encouraging his brethren. Yet, strong women too are exhorted to never give in to such
‘womanly’ infirmity, or be forever stereotyped as ‘the weaker sex’. Growing up in a house full
of stern women, | was taught not to snivel (even the sound of words that denote crying
repel!). Learning to walk in infancy, | already knew | should hold back the tears when | fell and
scraped my knee. My formidable foremothers intended to build character, but | wonder now if
they would have stood me in better stead by allowing me to express anguish.

SubQuestion No : 18

Q.18 Which word in the passage means the same as ‘admonish’

Ans

X 1. turmoil
" 2. reprimand

< 3. snivel

75 4. exhort
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896223

6306803510904
6306803510903
6306803510906
6306803510905




Comprehension:

Read the following passage and answer the questions.

Crying over spilt milk is futile. Crocodile tears are fake and manipulative. Crying wolf too is
false, and dangerous. Indulging in any of the above would be a ‘crying shame’; the most
reprehensible behaviour. And those blubbing Everly Brothers? Leave ‘em to their cryin’ in the
rain! There's no place in polite society for exposure that private. Nothing good’s ever said
about shedding a tear; our intrinsically human emissions of joy, sadness, and frustration.
Because nothing good can come of it, or so we've been convinced.

The patriarchy comes down hard on weeping. ‘Big boys don't cry’ they command, insisting
lads ‘man up’ and plough on amidst upheavals, without examination or even
acknowledgement of their emotions. Our dammed-up waterworks then trickle into every niche
and crevice, not just of our bodies but the body-politic, poisoning it like slow-acting arsenic.
Didn't large-scale, pent-up resentments result in two World Wars, don't they even now trigger
mass turmoil?

When ‘celebs’, especially male, break down in public, such as Cristiano Ronaldo or Novak
Djokovic, derision is generally rained down upon them, as if Charles Dickens hadn't
reprimanded, “Heaven knows we need never be ashamed of our tears, for they are rain upon
the blinding dust of earth..” or Justin Timberlake wailed, “Cry me a river”, unequivocally
encouraging his brethren. Yet, strong women too are exhorted to never give in to such
‘womanly’ infirmity, or be forever stereotyped as ‘the weaker sex’. Growing up in a house full
of stern women, | was taught not to snivel (even the sound of words that denote crying
repel!). Learning to walk in infancy, | already knew | should hold back the tears when | fell and
scraped my knee. My formidable foremothers intended to build character, but | wonder now if
they would have stood me in better stead by allowing me to express anguish.

SubQuestion No : 19

Q.19 The most suitable title for this passage is

Ans

" 1. Crying: is it good or bad?
X 2. Views of great writers on crying
X 3. Crying makes everyone sad

#5 4. Strong people do not cry

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896221

6306803510897
6306803510898
6306803510896
6306803510895




Comprehension:

Read the following passage and answer the questions.

Crying over spilt milk is futile. Crocodile tears are fake and manipulative. Crying wolf too is
false, and dangerous. Indulging in any of the above would be a ‘crying shame’; the most
reprehensible behaviour. And those blubbing Everly Brothers? Leave ‘em to their cryin’ in the
rain! There's no place in polite society for exposure that private. Nothing good's ever said
about shedding a tear; our intrinsically human emissions of joy, sadness, and frustration.
Because nothing good can come of it, or so we've been convinced.

The patriarchy comes down hard on weeping. ‘Big boys don't cry’ they command, insisting
lads ‘man up’ and plough on amidst upheavals, without examination or even
acknowledgement of their emotions. Our dammed-up waterworks then trickle into every niche
and crevice, not just of our bodies but the body-politic, poisoning it like slow-acting arsenic.
Didn't large-scale, pent-up resentments result in two World Wars, don't they even now trigger
mass turmoil?

When ‘celebs’, especially male, break down in public, such as Cristiano Ronaldo or Novak
Djokovic, derision is generally rained down upon them, as if Charles Dickens hadn't
reprimanded, “Heaven knows we need never be ashamed of our tears, for they are rain upon
the blinding dust of earth..” or Justin Timberlake wailed, “Cry me a river”, unequivocally
encouraging his brethren. Yet, strong women too are exhorted to never give in to such
‘womanly’ infirmity, or be forever stereotyped as ‘the weaker sex’. Growing up in a house full
of stern women, | was taught not to snivel (even the sound of words that denote crying
repel!). Learning to walk in infancy, | already knew | should hold back the tears when | fell and
scraped my knee. My formidable foremothers intended to build character, but | wonder now if
they would have stood me in better stead by allowing me to express anguish.

SubQuestion No : 20

Q.20 According to the writer who among the following openly supports weeping?

Ans X 1. Novak Djokovic
#< 2. Cristiano Ronaldo
" 3. Justin Timberlake
#5 4. Charles Dickens
Question ID : 630680896222
Option 1 ID : 6306803510902
Option 2 ID : 6306803510900
Option 3 ID : 6306803510901
Option 4 ID : 6306803510899
ng Comprehensio
Q.1 ‘aror & vata & gt a1 s e qof a—
TRGTA A AT TAeITehy AT Sl IR & faari
Ans @ 1.3)
X2
X 3.
X 4.3
Question ID : 630680896378
Option 1 ID : 6306803511487
Option 2 ID : 6306803511488
Option 3 ID : 6306803511490
Option 4 ID : 6306803511489




Q.2 waiRa ferar-fatvor areg @ are & R ®= gof -

ST TgA A A TANReE T Al R dat
Ans X 1.d@-FW
X 2. FrgR-ofieR
o 3. IWIR
X 4.3RFeR
Question ID : 630680896371
Option 1 ID : 6306803511462
Option 2 ID : 6306803511461
Option 3 ID : 6306803511459
Option 4 ID : 6306803511460
Q.3 HI9 gAr ggrer o orf ghm—
Ans X 1.3 g1
X 2. R g
o 3. g
X 4 FEASR g
Question ID : 630680896372
Option 1 ID : 6306803511463
Option 2 ID : 6306803511466
Option 3 ID : 6306803511464
Option 4 ID : 6306803511465
Q.4 Ry arem d g+t Y 3R F i3[g e Hl uga™ HR—
gt Y STaEET & oS § U € Ievaerdn 21
Ans X 1. 3ssgerdm
X 2. g
o 3. SIataeHT
X 4=
Question ID : 630680896375
Option 1 ID : 6306803511478
Option 2 ID : 6306803511475
Option 3 1D : 6306803511476

Option 41D :

6306803511477




Q.5 <af¥ & uata & are &1 s T gof -

i<t GIoE]
Ans o 1.2
X 2. Tdt
X 3. @
X 4. shar
Question ID : 630680896379
Option 1 ID : 6306803511491
Option 2 ID : 6306803511492
Option 3 ID : 6306803511493
Option 4 ID : 6306803511494
Q.6 A= A & aram famara Y gfR 9 g arera &1 T ffSie-
Ans X 1. upfa fmvr firear € died et ufamm sHe &% did &Y srfaar H]
X 2. wfdar & uepfa farsror fierar & died s ufamm ae &x &fd il
X 3. fOeTar & & &fd &t srfadn & uepfa fRror i ot wfowm =z
o 4. Hicd o1 ufoeT s-eRe 82 hfd Y arfaar & uepfa fRsoT fietar &1
Question ID : 630680896366
Option 1 ID : 6306803511440
Option 2 ID : 6306803511442
Option 3 ID : 6306803511441
Option 4 ID : 6306803511439
Q.7 Ry aram d g+t i g F i3[g 2ree hHl uga™ HR—
Rt aetam w6 g, srfaash 81
Ans X 1.adqM
o 2. Rftem
X 3. ufg
X 4. srfaasht
Question ID : 630680896376
Option 1 ID : 6306803511480
Option 2 ID : 6306803511479
Option 3 ID : 6306803511481

Option 4 1D :

6306803511482




Q.8 g« fatwor 2reg & arerr &1 Rk =T gof &3-
Fgo Wi ___ &= @ ugd | ar dgem anfaul

Option 41D :

Ans X 1.3l
o 2. g
< 3. st
X 4. He
Question ID : 630680896370
Option 1 ID : 6306803511455
Option 2 ID : 6306803511457
Option 3 ID : 6306803511458
Option 4 ID : 6306803511456
Q.9 A= # & aram famara A gfR 9 g arer &1 9= RS-
Ans X 1. 7T TRl & Gl @l shgd & gAY Afdehdl & IR &1 farerer § e Sl
o 2. T SITeRUT & RAgial ot ahgd € ST g AfdehdT TP ot fare= ahed 81
X 3. Ed 8 Tod SHTeRYT & RAgidl ol STt gART AfcerdT a TRAORT &1 faded avd 81
X 4. Ed 8 od STeR0T & RAGidl ol ST gART AfTehdT I TRFORT &1 &hed & faae |
Question ID : 630680896367
Option 1 ID : 6306803511445
Option 2 ID : 6306803511444
Option 3 ID : 6306803511443
Option 4 ID : 6306803511446
Q.10 ‘wHa’ & faeis & gt gof a—
AT o/l g, Shiae d o at e
Ans o 1. S[HHATY
X 2. s
X 3. Fga
X 4. fsmd
Question ID : 630680896380
Option 1 ID : 6306803511496
Option 2 ID : 6306803511498
Option 3 ID : 6306803511497
Option 4 ID : 6306803511495
Q.11 ‘gFeR foram & gia Hie=t urd’ etk o1 aref ghm—
Ans X 1.8 &l IS 8T TTeT Tehalt at gleps &t §1
X 2. gfgam dm A R YR B &
o 3. B8R & o1&1uT Ugd § gl et uga erd 8
X 4. 5% & U & 78 U A gl 8
Question ID : 630680896373
Option 1 ID : 6306803511470
Option 2 ID : 6306803511469
Option 3 ID : 6306803511468

6306803511467




Q.12 ‘areft fye gom wren @' & fag waifa g e ghn-
Ans X 1.3

X 2. At
o 3.Far
X 4 Fem
Question ID : 630680896369
Option 1 ID : 6306803511454
Option 2 ID : 6306803511452
Option 3 ID : 6306803511451
Option 4 ID : 6306803511453
Q.13 =1 & @ are fa=amer Y 3R @ 315 T @1 Ta=1 hifSig:-
Ans o 1. S%(d 2afth T TRAT T UfIST UE & ST T T Uehe el B
X 2. YT I Tehe Tel & T TRl <k ehl TIRAT &t UfTST Ta |
2% 3. YT I {19 Tehc il & TRl f<h ehl TIRAT &t UfTsT Ta |
X 4. Ta Uhe ST T T & TRl Sf<h chl TIRAT &t UfasT Ta |
Question ID : 630680896368
Option 1 1D : 6306803511450
Option 2 ID : 6306803511449
Option 3 ID : 6306803511447
Option 4 ID : 6306803511448
Q.14 ‘IR 7S A1 Al <RAT R <his’ FAYerifh <hr 3ref ghm—
Ans 1. 579 S9uId &l -Tpi g dl &% foheaar
X 2. fezamd @ Yezar A8t g
X 3. g5 Tga e fun 1 2§ Fehar
X 4 R IHI R SIS FEECT 76! el
Question ID : 630680896374
Option 1 ID : 6306803511471
Option 2 ID : 6306803511474
Option 31D : 6306803511473
Option 4 ID : 6306803511472
Q.15 g 7q gt & gt fi gfe & eIz 21 hi uga= w—
Hrafad & 9ARIg # eimuht IufAfa aieria g1
Ans o 1. Fier
X 2. ufeafa
X 3. wraferm
X 4 9URE
Question ID : 630680896377
Option 1 1D : 6306803511486
Option 2 ID : 6306803511485
Option 3 ID : 6306803511483

Option 41D :

6306803511484




Comprehension:

g 77T TTerier & SMYR TR U & IR &—

Sttt & fgiel & Gutetl o fisle T’ STeRewd 2T YHTeTqR § ASTHEd S S o & SHA-U-hig
& AT T ST ST 7| TET 89T GTed 3 Tnfsa fagtg foram) Sier, gfer, wrerea favm ofik siererdt &
FUTeAT TR IS8T SeH GTQ | Tl hl ot & 50 & 500 ThIEd! &hi & & =TSl ageT Sirar A7l 1854 &
S-S STt HEmaM o | e & i Feiferd S u=forg Sadh e ot 3R daRY &
& e gt figte Y1 579 uen wr & FAofa fomam man fos aredt o et v, R ot e gaan & forg
WH TR GG BT ST — AT 3R e TR 70T Tt — i e o forg e fele fomam S| Serredt t
fsgrer o1 o srar ek @ g1 faeiel sdanfat & & vz Adr et 3k &g 91 S5 diwon &t fs
ST (TaT) 7 972 Fider R & B oot & fory sra 8RR Sar ot | et A wgremt ok sefert
TR gHAT SterT Y3 fohdT| 31k HehT STefT STt | 1T 3 T} it oR gett o, St fep (R-amfeamwh)
3R IufrdRrardl I & MwoT & Jreay &

SubQuestion No : 16
Q.16 weriar & forg watug=h 2fide ghm-
Ans o 1. dure gl

X 2. onfa fagke

X 3. Hiel-arg fagte

X 4. anfearh fagts
Question ID : 630680896383
Option 1 ID : 6306803511506
Option 2 ID : 6306803511504
Option 3 ID : 6306803511505
Option 4 ID : 6306803511503

Comprehension:

foQ 7T Terier 3 SMYR TR UST & IR E—

anfeafaat & faetel & et 1 fagie Tad STeRad o7 “YNTAYR & ASTHE & did o &5 aMH-U-hig
& AT G ST ST AT F81 goRI JTel = dfed fagtg foran sifier, g, e fasm ofk sererdt &
FUTell TR IS8T SeH BTq | Tl hl ot aehs 50 & 500 ThIEd! i & & TSl ageT STraT ATl 1854 &
M-S ST aTEt HEmaM o | Sfeana & i Heiferd SR Tfog Sadh e oht 3R JaRY [F
B 7 et fagte Y1 3 Uk TR @ ok forar wa fos amedt <t ont o, ffRv aht 2Tt gRam & forg
WH TR GG BT ST — =7 3R &7 TR 70T AT — RN et o g e fete femam S| Semredt t
Ty o1 o srar S1es e g1 faglel srfeanfemt & &t v Aar diet ok g &1 5617 Hiwon < fos
SIS (Tar) 3 38 e i & o smmemd & forg orer sf¥amR 3o at| Rigifeat = merort ofk SHieRY
TR EHAT ST [ fohdT | 3-Tch HEhT STeTT STet | TRTHT 31 Gt =heil Ux g foha, STt e (FR-sfearsh)
3R IufAderardl g & woT & AreAw |

SubQuestion No : 17
Q.17 ‘AIfer™’ 27e% ot 37 8-
Ans X 1.3
o 2.3
X 3. 9uRIE
< 4. AT

Question ID : 630680896384

Option 1 ID : 6306803511508
Option 2 ID : 6306803511507
Option 3 ID : 6306803511510
Option 4 ID : 6306803511509




Comprehension:

g 77T TTerier & SMYR TR U & IR &—

Sttt & fgiel & Gutetl o1 fisls T’ STeRewd 2T YHTeTqR § ASTHEH S S ol & SHA-U-hig
& AT G ST SIIT AT T8 g9TRI STel A Sifed fale fham| siaR, gfor, Iema [T $iR srereral 2
FUTeAT TR IS8T SeH GTQ | Tl hl ot & 50 & 500 ThIEd! &hi & & =TSl ageT Sirar A7l 1854 &
S-S STt HEmaM o | e & i Feiferd S u=forg Sadh e ot 3R daRY &
& e gt fiete Y1 579 uen wr & Aol fomam man fos aredt o et v, R ot e gen & forg
WH TR GG BT ST — AT 3R e TR 70T Tt — i e o forg e fele fomam S| Serredt t
fsgrer o1 o srar ek @ g1 faeiel sdanfat & & vz Adr et 3k &g 91 S5 diwon &t fs
ST (TaT) 7 32 Fider R & & oneird) & forg o1 8RR Sar ol et A wgrert ok sefert
TR §HAT StelT Y3 fohaT| 37k HehT STefT STt | o1 3 T} it wR gett ok, St fep (R-amfeamsh)
3R IufrdRrardl I & MwoT & Jreay &

SubQuestion No : 18
Q.18 weriar # afofa fagis & d@ef & srwea 8-
Ans X 1. Hict 3R &g 39 faele & q= A1 91
X 2. 78 fagie HTaqR § IS8 & i & &5 § gor|
25 3. faifeat 3 mgrert ofk STt et STgT fA=mm=T S|
o 4.39 fagle & urfiferar ot @ =l fam mar

Question ID : 630680896386

Option 11D : 6306803511516
Option 2 ID : 6306803511515
Option 3 ID : 6306803511517
Option 4 ID : 6306803511518

Comprehension:

foQ 7T Terier 3 SMYR TR UST & IR E—

anfeanfiat & faetel & et o1 fagie Tad STeRad o7 “YNTAYR & ASTHE & did o &5 aMH-U-hig
& AT G ST ST AT F81 goRI JTel = dfed fagtg foran sifier, g, e fasm ofk sererdt &
FUTell TR IS8T SeH BTq | Tl hl ot aehs 50 & 500 ThIEd! i & & TSl ageT STraT ATl 1854 &
M-S ST et HEmaM ot | Sfeanfia & i Heiferd SR T=forg Sadh e oht 3R JaRY [F
B 7 et fagte Yl 37 Uk R @ ok forar o fos amedt <t ant o, ffRv aht 21t &R & forg
WH TR GG BT ST — =7 3R &7 TR 70T AT — RN et o g e fete femam S| Semredt t
Ty o1 o srar S1es e g1 faglel snfeanfemt & &t v Aar diet ok g &1 5617 Hiwon < fos
SIS (e 3 38 e i & o smmerd & forg orer iR 3o at| figifeat = mgrort ofk sHieRt
TR EHAT ST [ fohdT | 3-Tch HEhT STeTT STet | TRTHT 31 Gt =heil Ux g foha, STt e (FR-sfearsh)
3R IufAderardl g & woT & AreAw |

SubQuestion No : 19
Q.19 ‘EMA-T-hIg’ T UT?
Ans X 1.T& Sfd &1 99
X 2. Teh AR AT AN
o 3. & faxga e
X 4. U Ifigier ol AT

Question ID : 630680896382

Option 1 ID : 6306803511501
Option 2 ID : 6306803511499
Option 3 ID : 6306803511500
Option 4 ID : 6306803511502




Comprehension:
R 77T TTerier & SMYR TR U & IR &—

Srfeanfia & fatel # Hutel o foels Tad STeRaw T |ITTQR O ISTHEd & s i & SFA-U-3hiE
& AT T ST ST o7 | JET 89T GTel 3 Tnfda fagtg foram) Siier, gfer, wrerea favm ok siererat &
FUTe TR IS8T SeH GTQ | Tl ahl ot & 50 & 500 ThIEd! &hi & & STl ageT SIrar A7l 1854
JTA-37Ta Snfeart shaam ot et & g aeifera ofk TRuftrd dadh e ot ok Jat =
B 7T et fagtg 1 3 Uk TR @ ok forar wa ok amedt < vt o, fRfRv aht 2Tt gham & forg
WH Y GG BT ST — =T 3R e TR 70T Tt — R et o forg e fete foman S| Semredt t
foregmr o o AT Ik Wy 81 Reidt snfeantiat & & W@ AT Tt ofR seg 9| 38i "iwoT &l iR
STERSHT (TaT) 7 92 Fider R & B oot & forg sra sfaR Sar ot | et A wgrert ok sefert
TR gHAT StelIT Y7 fohdT| 37k HehT STefT STt | 1T 3 T} it wR gett o, St fep (R-amfeamsh)

3R IufaRrard I & MwoT & Jreay &

SubQuestion No : 20
Q.20 e & ER fgle @ srofie =g un-
Ans X 1. 91T SR 4 & ST Y AT

X 2. Jrcafees TS WR S
o 3. o & gaieg & e
X 4. TR snfeartaat e s

Question ID : 630680896385
Option 1 ID : 6306803511512
Option 2 ID : 6306803511513
Option 3 ID : 6306803511514
Option 4 ID : 6306803511511
Section : Discipline1
Q.1 9 gis & dga TR Rereiar aret Tl sl TR-3muTiRe 3R denfcien difaies aféw & aga
ffera forar s gerar @ aifer & s Sas e g1 R 9a?
Ans X 1. fRver o sifdeR sifdfem
X 2. areafie wR R e & forg gomash fren
X 3. e Areafies frem siffee
o 4. 9 e sfvg=
Question ID : 630680896570
Option 1 ID : 6306803512247
Option 2 ID : 6306803512248
Option 3 ID : 6306803512250
Option 4 ID : 6306803512249
Q.2 ST MTST & BIR-UR TR hel ST R el 87
Ans #1229 H
X211 mRd
X 3.3Tad
X A 4Tad
Question ID : 630680896564
Option 1 ID : 6306803512224
Option 2 ID : 6306803512223
Option 3 ID : 6306803512225

Option 41D :

6306803512226




Q.3 = famm forad wwifoa 82

Ans X 1.are
25 2. o1gur fdaR
X 3. FAifdaR
o 4.3
Question ID : 630680896573
Option 1 ID : 6306803512260
Option 2 ID : 6306803512259
Option 3 ID : 6306803512262
Option 4 ID : 6306803512261
Q4 fraRmaen_____ofR___ & i gfg ofik faer o1 dspwor o1t 81
Ans o 1. ST, TR
X 2. IUUATER, Hel STedTawIl
X 3. AT, R JTegraiT
X 4. TR JTeaTaeT, IR STeaTaeiT
Question ID : 630680896558
Option 1 ID : 6306803512202
Option 2 ID : 6306803512201
Option 3 ID : 6306803512199
Option 4 ID : 6306803512200

Q.5 e o R sifdfgm, Ry smasgwdr aret st afga FafafRa 3 @ fra omg of & s=at
&t f:31eek SR sifand frer &1 sifdreR wer wwar 8?

Ans X 1.4-14a9

X 2. 416T%

X 3.6-16T%

o 4. 6-14 a9
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896569

6306803512243
6306803512245
6306803512246
6306803512244

Q.6 @=-a1 WRdla sifafaw Regiret H e, G, arar g6 uRaser & Fafor, arnfSie gren
3T TSI e T a7 T &7?

Ans o 1. AR Sy, . (RPWD) sifaifags, 2016
X 2. aR.d.end.(RCI) sifdfaam, 1992
X 3. e @y sifafagy, 1987
X 4. 3R.&.5.(RTE) afafazm, 2009

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

630680896568

6306803512242
6306803512240
6306803512239
6306803512241




Q.7 ueH 3k fora= &Y gar wusf woret sit gftenfa a=ai & forg dar Y 7€ &, = g 82

Ans X 1. %/ g&ieh (Talking book)
" 2.9 (Braille)
X 3. Siifsaigs (Audiobook)
X 4. 3l A3 (Electronic reader)
Question ID : 630680896574
Option 11D : 6306803512264
Option 2 ID : 6306803512266
Option 3 ID : 6306803512263
Option 4 ID : 6306803512265
Q.8 ag Hy= 7 HIfAY Sit e i wepfar & e d gt At 81
Ans X 1. siftnm I ayguf a1 reg AR gar 81
X 2. 3rfenT uas ufthar & 7 o uah 3T
X 3. aifenmm ardifies ofik gaq gar gl
o 4. I ©Rf & 38 Ihffa 81 fohar ST GeRdT 21
Question ID : 630680896559
Option 1 ID : 6306803512204
Option 2 ID : 6306803512203

Option 3 ID : 6306803512206
Option 4 ID : 6306803512205

Ans

il & Tg-3ifEie hY TeT o1 aufs == & g fora 2ree =1 T foma sTraT 87
25 1. donfa shfearar

o 2. ITATfoIch-Tieptden fafderdn

X 3. gipiae gaETdn

X 4. THATERIOT

Q.9 U & ysrifaes aRaer & fafva amfSie dwaened, R gonfe, Rarsit ofz sfawr sfivt &

Option 41D :

Question ID : 630680896567
Option 1 ID : 6306803512238
Option 2 ID : 6306803512237
Option 3 ID : 6306803512235
Option 4 ID : 6306803512236
Q.10 TarA2M et & Heier & Ri-T1 HYU= T A8 872
Ans X 1. URuRe U & afgthd Tgl & foly ardfae Sifenm & saer|
o 2. T sasgendt aret s=at & forg fasiy ey ok e
X 3. 7 Shad i gt & forg, afees sreu<ieges JToT St aTell & forg oft Sifdmm & s
X 4. gerash e o oref gt o= o € T H, T @ man A &
Question ID : 630680896566
Option 1 1D : 6306803512233
Option 2 ID : 6306803512231
Option 3 ID : 6306803512234

6306803512232




Q.11 siffery (A): Afdier geaic awa-a9g uR fRar strar g1
RT (R): Gedich=1 & ATead & Afties dtsrn & ey # faya-ig fofg forg sma g
Ans X 1. AT g AfeTR A Bl

X 2. A SRR s €1
X 3. A SRR g § afh R, A o7 Tt TUsftensor =181 g
o 4. A SRR 9 & 3R R, A 1 Tgt Tefiaor g1

Question ID : 630680896560

Option 1 ID : 6306803512209
Option 2 ID : 6306803512210
Option 3 ID : 6306803512208
Option 4 ID : 6306803512207

Q.12 fA=fafaa d @ wiF-a1 sy ueedT fafd & deu d ga 7di 82
Ans o 1. TaefF fRreror i ge fRremeff s Afy g

25 2. O <Y hefT H UgRiE o1 STeRR IuaT fohar SiTaT 81
< 3. yesf fafd uas foharerea dhf=a fafdr &1
X 4. et @ et ot sraedien o A1enm @ Sift # wgrar At g1

Question ID : 630680896561

Option 1 ID : 6306803512212
Option 2 ID : 6306803512214
Option 3 ID : 6306803512213
Option 4 ID : 6306803512211

Q.13 A testing procedure for the formal assessment of the hearing losses is known as?
Ans  # 1. Audiometry

X 2. Audiogram
< 3. Audiobook
X 4. Audiometer

Question ID : 630680896571

Option 1 1D : 6306803512251
Option 2 ID : 6306803512253
Option 3 ID : 6306803512254
Option 4 ID : 6306803512252

Q.14 Documentaries, museums, artifacts, archives, timelines are some of the resources to teach
effectively to social science students.

Ans X 1. Geography

X 2. Political science
«* 3. History
X 4. Economics

Question ID : 630680896563

Option 1 ID : 6306803512221
Option 2 ID : 6306803512220
Option 3 ID : 6306803512222
Option 4 ID : 6306803512219




Q.15 Our visual system mainly consists of three components namely-
Ans X 1.Eyes, sensory nerves and brain

X 2. Eyes, optic nerves and sensory nerves
/X 3. Eyes, optic nerves and light

" 4. Eyes, optic nerves and brain

Option 41D :

Question ID : 630680896572
Option 1 ID : 6306803512255
Option 2 ID : 6306803512257
Option 3 ID : 6306803512258
Option 4 ID : 6306803512256
Q.16 f=fafaa d @ si=-ar Hu= ag 7¢@i &7
Ans X 1. Rerarcayes uRada srag gid &1
X 2. faera @ arerdf ArTeTes SR UM g1 TR & uRad=l @ 81
X 3. faera ge Ot fohan & St 51 9 Uge & g gt oIt 81
o 4. Tara 6 opfa AR I &1
Question ID : 630680896557
Option 1 ID : 6306803512197
Option 2 ID : 6306803512195
Option 3 ID : 6306803512198
Option 4 1D : 6306803512196
Q.17 Primary language or the mother tongue of the child is extensively used in this method of
teaching English language-
Ans X 1. Direct method
75 2. Audio-lingual method
¥ 3. Grammar translation method
/< 4. Total Physical Response
Question ID : 630680896565
Option 1 ID : 6306803512227
Option 2 ID : 6306803512228
Option 3 ID : 6306803512229
Option 4 ID : 6306803512230
Q.18 fAmfafEd & @ FI9-91 ag R g, St fATH srerar w1 hRoT g 8?
Ans X 1. STTAfRIRdT RS
X 2. grarerefig sRE
o 3. o7l AR
X 4. ;RRgw FReE
Question ID : 630680896575
Option 1 ID : 6306803512267
Option 2 ID : 6306803512270
Option 3 ID : 6306803512269

6306803512268




Q.19 The period of trust vs. mistrust has appeared in which developmental theory?
Ans X 1. Psychological development theory

" 2. Psycho-social development theory
X 3. Socio-cultural development theory

X 4. Emotional development theory

Question ID : 630680896556
Option 1 1D : 6306803512191
Option 2 ID : 6306803512194
Option 3 ID : 6306803512193
Option 4 1D : 6306803512192
Q.20 Pictorial presentation which involves children interpreting pictures and to find relevant
information and solutions to mathematical problems are techniques of teaching preferably
adopted to teach students at
Ans X 1.Pre-primary level
" 2. Primary level
X 3. Elementary level
X 4. Secondary level
Question ID : 630680896562
Option 1 ID : 6306803512215
Option 2 ID : 6306803512216
Option 3 ID : 6306803512217
Option 4 1D : 6306803512218

Section : Discipline2

Q.1 Which type of guidance focuses on assisting individuals in choosing, preparing for, entering,
and progressing in their chosen occupation or career?

Ans  «# 1. Vocational Guidance
#< 2. Educational Guidance
#< 3. Study Skills Training

X 4. Personal-Social Guidance

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896587

6306803512317
6306803512315
6306803512318
6306803512316




Q.2 Alpha-feto protein test, sonography, MRl and Amniocentesis are some of the tests to identify
multiple disabilities among children at-

Ans X 1. Later childhood
/< 2. Early childhood
«” 3. Pre-natal stage

/< 4. Post-natal stage

Question ID : 630680896585
Option 1 ID : 6306803512310

Option 2 ID : 6306803512309
Option 3 ID : 6306803512307
Option 4 ID : 6306803512308
Q.3 Which among the following factor causing multiple disabilities in children is not associated
at the time of the birth?
Ans X 1. Oxygen deprivation
X 2. Perinatal hemorrhage
X 3. Premature birth
" 4. Postnatal trauma
Question ID : 630680896586
Option 1 1D : 6306803512311
Option 2 ID : 6306803512313
Option 3 ID : 6306803512312
Option 4 ID : 6306803512314
Q.4 Which among the following term is not associated with expressive language problems?
Ans X 1. Apraxia
75 2. Dysarthria
/< 3.Dysnomia
" 4. Dysgraphia
Question ID : 630680896580
Option 11D : 6306803512288
Option 2 ID : 6306803512289
Option 3 ID : 6306803512287
Option 4 ID : 6306803512290
Q.5 ADHD @1 fawatRa w0 @ g2
Ans X 1. Attention Deficit Hypersensitivity Disorder (3¢ SfthfRie grgmrafdfeadt fagaiisl)
< 2. Attention Disorder of Hyperactivity Deficiency (3¢ f3gsifdR oifth grsurufaefad
Shfade)
«" 3. Attention Deficit Hyperactivity Disorder (313 Sfthflie gremrufaR fé fEasiisy)
< 4. Attention Deficiency Hyperactivity Disorder (31é21 SfthfRdeht grsurufaefadt fagaiieR)
Question ID : 630680896579
Option 1 ID : 6306803512285
Option 2 ID : 6306803512283
Option 3 ID : 6306803512284
Option 4 1D : 6306803512286




Q.6 fFr=fafaa & & -t aa-iter siftem s1em a=af Y Aeg Fe & forg Sug 78 82
Ans X 1. S GgRI IUGRT

X 2. e TR

X 3. deh-ichl gfeentoT

o 4. [erer-dhida gfeamior

Question ID : 630680896578

Option 1 ID : 6306803512279
Option 2 ID : 6306803512281
Option 3 ID : 6306803512280
Option 4 ID : 6306803512282

Q.7 <itard ugfa (Lovass method) & 7T+ gea8ty hishe Hed w4 & ford oy avf &t @fdia swan
&?

Ans X 1.f&RR
X 2. T S aTet g
o 3. et oy 3 =
X 4. gar aah

Question ID : 630680896596

Option 1 ID : 6306803512353
Option 2 ID : 6306803512352
Option 3 ID : 6306803512351
Option 4 ID : 6306803512354

Q.8 SrIRelt Hifal, Bed, urge-aa ik @0 ha g i wgre veififeral & e saahr
___ o1t cafehal gR R smar @1

Ans X 1. 19O STeTHdT
X 2. gggaet (ADHD)
o 3. Hiex faepaiar
X 4. a1 R

Question ID : 630680896584

Option 1 ID : 6306803512303
Option 2 ID : 6306803512306
Option 3 ID : 6306803512304
Option 4 ID : 6306803512305

Q.9 Ry g faseal # @ Hi=-a1 e ifRT s1em =al &Y uga= & & g udieror SuesRor A1
&?

Ans o 1. 2Me geich HoTelt
X 2. rgctiea
25 3. gfvgar gderor
X 4 e adero

Question ID : 630680896576

Option 1 ID : 6306803512274
Option 2 ID : 6306803512271
Option 3 ID : 6306803512273
Option 4 ID : 6306803512272




Q.10 Tei=raT (AUTISM) uga ot uTafies Sid oam 8?

Ans o 1. A1ar-oar/ 2@ Terehd|
25 2. 91t 3 fatw
X 3. Rfras
X 4. et
Question ID : 630680896581
Option 1 ID : 6306803512293
Option 2 ID : 6306803512294
Option 3 ID : 6306803512291
Option 4 ID : 6306803512292
Q.11 According to applied behavior analysis, what is the first step in treating inappropriate
behavior?
Ans X 1. Providing intensive trial training
/X 2. ldentifying alternative behaviors.
/< 3. Implementing behavior modification techniques
" 4. Analyze the behavior of affected child in his environment.
Question ID : 630680896593
Option 1 ID : 6306803512342
Option 2 ID : 6306803512339
Option 3 ID : 6306803512341
Option 4 ID : 6306803512340

Ans

gl

Q.12 eifAemyA (A): ynfErss g1a g O A & ad s 2R & daea iR A= T8 w@ geaarn

&R (R): AfEassh # Aiex &l 1 alvygef e o sk SfRfa &t weitifa Fafa &=

nferss fit emar &) Ifda wHRar g1
X 1. A9 g AfFT R eI B

X 2. AR REH e TA Bl
o 3. AR R A E SRR, A T el TEIH0T 8
X 4. A SRR g & Afh R, A o7 g TETR0T 181 g

Option 41D :

Question ID : 630680896583
Option 1 1D : 6306803512301
Option 2 ID : 6306803512302
Option 3 ID : 6306803512299
Option 4 ID : 6306803512300
Q.13 udigadl (ADHD) & fifea s=ai & fag Aféies glaumsit o vmufas wiew g2
Ans X 1. 9% SRITEATHE ST ehl AR AT
o 2. =0 R ATAARTS h SIEY HET h ITATaRUT H GRIA el
X 3. U8 ®U T HAAATYdh g o HAGER ol F&T|
X 4. Jfafs Qerftre S e &=
Question ID : 630680896589
Option 1 ID : 6306803512326
Option 2 ID : 6306803512324
Option 3 ID : 6306803512323

6306803512325




Ans

Q.14 What is the primary focus of Applied Behavioral Analysis (ABA)?

X 1. Cognitive principles
" 2. Positive reinforcement
/X 3. Pharmacological interventions

X 4. Negative reinforcement

Option 41D :

Question ID : 630680896592
Option 1 ID : 6306803512336
Option 2 ID : 6306803512337
Option 3 ID : 6306803512338
Option 4 ID : 6306803512335
Q.15 @wRmEur (Autistic) T=ai d Ramm & Fafafaa ot & a1y &2 fatvad o s &)
Ans X 1. ST faemey
X 2. FAeiR X fogim
X 3. O Hedr
o 4. 3T "hAT
Question ID : 630680896582
Option 1 ID : 6306803512296
Option 2 ID : 6306803512297
Option 3 ID : 6306803512295
Option 4 ID : 6306803512298
Q.16 ufaene sl & |1y I T g wrERierarsit & fog agaygef faaron T 82
Ans X 1. 71 foh uRuRRen wrmsf ugfoat wafa €1
X 2. gifaert sreror ok e Sfort Y ugar ATl
o 3. TTAT T ITKIehT ht THEHT SR Uk HAoTgd Tegiiceh SHTER &
X 4. T T GAERIT S ggIATH I TSRSIETH AT
Question ID : 630680896588
Option 1 ID : 6306803512319
Option 2 ID : 6306803512321
Option 31D : 6306803512322
Option 4 ID : 6306803512320
Q.17 ydwepett fNam & sAdaR wR fhe v Y ugfa RuiRa sik sro=né st 82
Ans X 1. R ugla
X 2. sftanRes freror ugfar
o 3. shisrugfa
X 4. IrEF-InaRa gga
Question ID : 630680896591
Option 1 ID : 6306803512331
Option 2 ID : 6306803512334
Option 3 ID : 6306803512333

6306803512332




Q.18 foreht aafh & Tifdes dia= Fizre & Hafda @ v fawrR =t o wga 87
Ans X 1.fSEhagferr (Dyscalculia)

« 2. feamfthar (Dysgraphia)

X 3. fZwifyar (Dyslexia)

X 4. fe=iEaT (Dysnomia)

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680896577

: 6306803512277
: 6306803512276
: 6306803512275
: 6306803512278

Q.19 What is the correct sequence of steps involved in applied behavior analysis?
Ans X 1. Analyze the behavior of child, Shaping appropriate behavior, Identifying alternative

behaviors.
« 2. Analyze the behavior of child, Identifying alternative behaviors, Shaping appropriate
behavior.
5 3. ldentifying alternative behaviors, Analyze the behavior of child, Shaping appropriate
behavior.
#5 4. Shaping appropriate behavior, Identifying alternative behaviors, Analyze the behavior
of child.
Question ID : 630680896595
Option 1 ID : 6306803512348
Option 2 ID : 6306803512350
Option 3 ID : 6306803512347
Option 4 ID : 6306803512349
Q.20 urfd auf fi fNan § aEa GHEE & g uqE vew Far 8?
Ans X 1. 9% ursdgat
X 2. 3187 JTeTeh! ol Hedich & S8R &
X 3. URfes fAe107 ardreRor dek HifAa sifamar
o 4. el gTeredt SfR Yol aTdrerot
Question ID : 630680896590
Option 1 ID : 6306803512327
Option 2 ID : 6306803512330
Option 3 ID : 6306803512329
Option 4 ID : 6306803512328

Section : Discipline3




Q.1 HHe™-3YTRd g=afd (CBR) Y sraurun &a sifae & omg?
Ans X 1.1998

< 2.1988
X 3.2008
o 4.1978
Question ID : 630680896598
Option 1 1D : 6306803512361
Option 2 ID : 6306803512360
Option 3 ID : 6306803512362
Option 4 ID : 6306803512359
Q.2 sraor arfde Al & Teaf F ISL o1 @ a1ef &2
Ans X 1.International Sign Language (3e=A=eT 918 @iidoT)
«" 2. Indian Sign Language (3fa= T1e= avaeT)
X 3. Interpreted Sign Language (330es TT3 wivaal)
X 4. Inclusive Sign Language (3=RIS T84 aide)
Question ID : 630680896615
Option 1 ID : 6306803512427
Option 2 ID : 6306803512429
Option 3 ID : 6306803512430
Option 4 ID : 6306803512428
Q.3 wam ugfa (Lovass method) ATek =TUeh ¥ & U~ agR IUAR Ugfa &1 fasma fraa
forar?
Ans X 1. TR U3H A
X 2. TR Yot Sarg
X 3. UheR AThY dar
o 4. UIOhER 3914 SArarg
Question ID : 630680896594
Option 1 ID : 6306803512344
Option 2 ID : 6306803512345
Option 3 ID : 6306803512346
Option 4 ID : 6306803512343

proofreading before printing?
Ans  # 1. Electronic Braille typewriter

X 2. Tactile images
#< 3. Electronic Braille note-taker

X 4. Portable reading device

Q.4 Which device provides immediate hard copies of Braille text and allows for text insertion and

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896604

6306803512386
6306803512384
6306803512383
6306803512385




Q.5
Ans

Tichfaes vreT & forg TR &1 urufAe areaw aar &7
Xl g

X 2. SR

72X 3. A g

o 4. 81y, 3ffE ok ug & Aremw 9

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680896612

: 6306803512415
: 6306803512417
: 6306803512416
: 6306803512418

Ans

HRUT: fAchedr a=a 3R e & fia dgar g2a iR sravr SO 6 giaur 3t &1
X 1. S1fAeryH T §, Afh hRuT 3 g1

X 2. 3ifAepue S §, Afh R I g1
< 3. A AHY 3R BRUT & T &, AfhT hROT SITAHUT T Jgt TWETR0T T8 &1
o 4. JITHYA 3R HRUT GH] T 8 dAT HROT, SHHhU T gl TWETHUT 51

Q.6 3rfNwUT: guTAA Ferrait & sraur arfda o=t 3R fAerer & = Rerear a=g T@=T 3masyer &1

X 3. RAfthcar IR dek uga
X 4. fea @ fRfaat

Question ID : 630680896610
Option 1 ID : 6306803512409
Option 2 ID : 6306803512410
Option 3 ID : 6306803512408
Option 4 ID : 6306803512407
Q.7 sfwfamara ik wfafterar ufveror @ nfdfiean dech gRifaat ae aafeal ot fore v
e d?
Ans X 1. e feagaf i nfafafaat & forg gt o fFsfzar seree
X 2. Gurfad @aRi ot Aeht & forg I SmarsTrgt et ufasfda ek
X 3. 3% eTies Sfia oiR hrfad & STeT dech
o 4. 370 TfeRUT TR AU SgTens SR WA i SgTdT Geht
Question ID : 630680896606
Option 1 ID : 6306803512391
Option 2 ID : 6306803512392
Option 3 ID : 6306803512394
Option 4 ID : 6306803512393
Q.8 freiTTdT & TrIfSIeh Afsd & AIFUR, freretiTar @1 Aot &t d urufie wRe = 7T s
&?
Ans o 1. 9mIfoIe SR gafarofiia Re
X 2. STdfRren muEurar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896601

6306803512374
6306803512373
6306803512372
6306803512371




Q.9 R« =fral & forg wwlt ot i gan 7 wifedn s o e Fv T 82
Ans X 1. BifcET B8 Tt 8RR aifdres w1

o 2. T & SR Hhifeat S1 Al T & 1 H @1 ST TehalT &1
2 3. wifcd st dge & forg sifafs Tuié verm et 81
X 4w B3I 6 ug el gt g SR SIS AT dgar UdT AT S Hehdl 5 |

Option 11D
Option 2 ID

Question ID :

Option 31D :
Option 41D :

630680896608

: 6306803512399
: 6306803512401
6306803512400
6306803512402

Q.10 According to the World Federation of the Deaf (2012), what approach is becoming popular in
educating deaf children?

Ans X 1. Teaching only written language skills
X 2. Focusing solely on rhetoric and poetry in sign language
" 3. Adopting a bilingual approach with sign language as the teaching language

X 4. Exclusively using pantomime and gesture for communication

Question ID : 630680896613
Option 1 ID : 6306803512419
Option 2 ID : 6306803512422
Option 3 ID : 6306803512421
Option 4 ID : 6306803512420
Q.11 Thel & Gichfaer WTe @ m A1 fAerar &2
Ans X 1.38 I 3R g1 o TeRUT S AT Fee gl
< 2. g 31t & ufchar & aner srerdt 81
o 3. I8 TAR ufehar &l Ferdt 81
X 4. g fenfat § deTeTen HIe Sl HH H g1
Question ID : 630680896614
Option 1 ID : 6306803512426
Option 2 ID : 6306803512423
Option 3 ID : 6306803512424
Option 4 ID : 6306803512425
Q.12 sraur snfira eafwat i Teraar & g e i it fora oer sad g8 82
Ans X 1. SIS gig SURROT AT URUT ech
o 2. PichiorR g ofiR fefSieet sraur 43 fafaa vk
X 3. thfSienet 9até & forg Aifaferdt Iuevll sl URgd &eeh
X 4. TAR & folY 32T TEradT UeH ik
Question ID : 630680896602
Option 1 ID : 6306803512378
Option 2 ID : 6306803512375
Option 3 ID : 6306803512377
Option 4 ID : 6306803512376




Q.13 Which method of communication emphasizes the use of amplification and speech reading
for students with hearing impairment?

Ans X 1. Manual communication method
«” 2. Oral/Auditory-oral method
#5 3. Visual communication method

75 4. Auditory verbal uni-sensory method

Question ID : 630680896611
Option 1 ID : 6306803512413
Option 2 ID : 6306803512412
Option 3 ID : 6306803512414
Option 4 ID : 6306803512411
Q.14 SHeE-TUTRe y-afa (CBR) &RishHl & $o 14 &1 87
Ans X 1. TdFar R nfafterar & st
X 2. Aféren ofR i SEa’l ad ugd HiHd e
«F 3. [iai aafrat & forg nfasfterar, TR wierer ik AmTfSies TATARM @t FemT
X A TRITTT ST WR Sed! fefar
Question ID : 630680896599
Option 1 ID : 6306803512363
Option 2 ID : 6306803512364
Option 3 ID : 6306803512366
Option 4 ID : 6306803512365
Q.15 sifemy: g s fyan-REzm & o gf® & srmmar s ERaf R Ak ga &
HROT: J FITSH SR AT ) ugar=A & forg srot srgur, wst oiR Tie Sfea o Sughn =a &1
Ans X 1. 39 O 8, Afche shRUT 319 &
X 2. ARy 39 8, Afchd ShRUT 9 &
o 3. JAFHY 3R BRI EHT T § TAT BRI, AT HhU I Tgt TETHIT & |
X 4. AU R HRUT &1 T & Afch BRI, STfHhHUT Pl Tat TIETHR0T Tai &1
Question ID : 630680896605
Option 1 ID : 6306803512389
Option 2 ID : 6306803512390
Option 3 ID : 6306803512387
Option 4 ID : 6306803512388

Q.16 Yy-afd =1 wrufie 3e2a a1 872
Ans X 1. i aafnal 3 THETEl © ST ATl
X 2. IS heidch 3fR SfEShR ol Femar T

F 3. AR P TRRIHS WA & I=TdH THT TR I U e 3R AR YehTehor UTe et
| ey ST

X 4. gt eafnal & fog @y darsi de ugd ot fed aArl

Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 41D :

630680896597

6306803512355
6306803512356
6306803512358
6306803512357




Q.17 gfe a1fda =aafveal & fog gf® migs aoie w1 uruf@e 3g2a w=m 8?
Ans X 1. gfEaTfeq safth ol Ted T AifEe e e @

o 2. SRaTfda s ofk MEe & i TUR ok THET &l FgmT
25 3. AR & oy gf® du= reft o fefar semm
X 4. geeTiaa safh & AnTes & uRaR & Tewdl 6t YrfiaRt dl gdicaTtad ST

Question ID : 630680896607
Option 11D : 6306803512395
Option 2 ID : 6306803512397
Option 3 ID : 6306803512396
Option 4 ID : 6306803512398
Q.18 What type of assistive technology is often used to facilitate writing for individuals with
physical impairments?
Ans X 1.Virtual reality headsets
/X 2. Advanced speech recognition software
" 3. Modified keyboard
X 4. Complex robotics
Question ID : 630680896603
Option 1 ID : 6306803512379
Option 2 ID : 6306803512382
Option 3 ID : 6306803512380
Option 4 ID : 6306803512381
Q.19 gamA2A fver Fi aar RAgtwar &2
Ans X 1. %had I=a AeifOres givaar aret faenfial et sifaRs Tgradr wer el
X 2. sufera fenfial & forg srer e rferm Suetses T
X 3. faRiw amasgehar aret et et gy e Fermsi @ a1eR W@ =Tl
o 4. ORIy arasgenar aret feenfal o1 AmicRe Ty f1er ehemedt § ehe |
Question ID : 630680896600
Option 1 ID : 6306803512370
Option 2 ID : 6306803512368
Option 3 ID : 6306803512367
Option 4 ID : 6306803512369
Q.20 srqur He<ft spfearsal aret aafhal & 2fAe sftam & fog aar smasaes 8?
Ans X 1. Gichfren ATST ehiret Y e St Ster o hiIed TR St &A1
o 2. 99R & foIq 3fe o1 IUTT, UT: Tichfcen ToT o AT &
X 3. 9aur GUR R fAefRar
X 4. Tichfden TR &Y 37Ul Hifeh YR i ATIHeRdT
Question ID : 630680896609
Option 11D : 6306803512406
Option 2 ID : 6306803512404
Option 3 ID : 6306803512403
Option 4 ID : 6306803512405

Section : Discipline4




Q.1 ARHTsd HaRE g ol T 31 872
Ans X 1. TOR & Hhad Uk g T T IUATT HATI
o 2. T2 AU A & b aich g
X 3. Shad Fichfaeh YTNT & ATETH T TG AT
X 4. Topet TTend B gTe} &1 @ Hare e J 3raHe g

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680896618

: 6306803512439
: 6306803512440
: 6306803512442
: 6306803512441

Q.2 foreht fiardt & forg Rifthea Su=R &t gormn # aaraaf@e gaafe (VR) &1 vrafde w@eg o g?
Ans X 1. Geiicrstt o1 geret ofk deor & T

o 2. B & § R SR Wil AR ure e
X 3. iy Rifrea Sawrer vem @)
X 4 IRiRe werdT ofR dgewdl ot S

Question ID : 630680896623
Option 1 ID : 6306803512459
Option 2 ID : 6306803512462
Option 3 ID : 6306803512461
Option 4 ID : 6306803512460
Q.3 fA=fafaa d @ fia- RS amrE: siffesn Weaen TR (ASD) & o1 Teifda 8?
Ans X 1.3=3 THdA™
o 2. A ok srewTe
X 3.7yHE
X 4. Tfdsme
Question ID : 630680896625
Option 1 ID : 6306803512468
Option 2 ID : 6306803512469
Option 31D : 6306803512467
Option 4 ID : 6306803512470

Q.4 =t & dterforer o, fAdwerr wrur-smenfRa nfafafal ur seor gl fora wepR uvma sTeraT 82
Ans o 1. Tg WTHT T THET 3fRR sifHeafh et gfad ahear g1

X 2. 7g aTT SIfAUET HiRIT Tt TSTAT B
X 3. 75 Uea 3R fore? Y erwar # GUR &l 81
X 4. 3T 9T SR TR P UR hIg UNTT T8l usdT gl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896631

6306803512494
6306803512491
6306803512492
6306803512493




Q.5 WRa & IHfARin WA # R Hichfaes v & si=-wt fer=afe (fingerspelling) woret s
8?

Ans o 1. 3-gIY aTell goTTe!
X 2. Uh-gTY aretl oTTeft
X 3. g e voredt 7gl &1
X 4. 5= g1 areft vomret

Question ID : 630680896616

Option 11D : 6306803512431
Option 2 ID : 6306803512432
Option 3 ID : 6306803512434
Option 4 ID : 6306803512433

Q.6 Which of the following is NOT a factor crucial for quality education in an inclusive classroom
environment?

Ans X 1. Access to teaching learning materials
25 2. Availability of flexible educational content
25 3. Understanding of special needs of learners

" 4. Exclusivity of teaching methods for different learners

Question ID : 630680896628

Option 1 1D : 6306803512481
Option 2 ID : 6306803512480
Option 3 ID : 6306803512479
Option 4 ID : 6306803512482

Q.7 fereh, GaTHS fRepetiTar aret faenfdfat & g siftnm & srawRi @) e ag1 Tehd &7
Ans X 1. TEgIReR SIfdTH & STaeRi ot WA ek

o 2. Il Siae & SIgHd, THehel TgRIdT UGTH chich, T fRIST0T IUSKRUT & U H W a1
ST hech

X 3. fRrgror & forg defiidht ofk dioedar & IuaT dl ToRSiETST Hich
X 4. TRl WU o ST chdel SRR (G1 TR & chisd ich

Question ID : 630680896633
Option 1 ID : 6306803512499
Option 2 ID : 6306803512502
Option 3 ID : 6306803512500
Option 4 ID : 6306803512501
Q.8 fagiy fAem & AAC = faaRa ®u o 87
Ans X 1. Auditory and Audible Communication (3iffge<} gg siffgaa swrgfchem)
«” 2. Augmentative and Alternative Communication (3f#efed U8 sieezAfed ergficher)
7< 3. Active and Adaptive Conversation (Yfaea Us Usfiea dhasiaM)
X 4. Articulate and Accurate Communication (3fégeie U8 TeRie rfchem)
Question ID : 630680896617
Option 1 1D : 6306803512437
Option 2 ID : 6306803512438
Option 3 ID : 6306803512436
Option 4 ID : 6306803512435




Q.9 siffesH TWagH AR R W fhe g & yehe gF &7 d &2
Ans X 1.10 9 H g F a8

X 2. %gd 5 auf & a1e
X 3. fopamRre=n & R
o 4.3 39 & oY 9 Uge

Question ID : 630680896624

Option 1 ID : 6306803512466
Option 2 ID : 6306803512463
Option 3 ID : 6306803512465
Option 4 ID : 6306803512464

Q.10 fA=fafEa 7 @ wi=-a1 wua fawfRrar (dyslexia) @1 9o sresT qufa &Rar &2

Ans o 1. R Tes Sifem Taieft faenR & St oo Rt THeT SR U & ahiRiel aht MaTfard ot 21
X 2. fExferyan gega: AR sivret ofR TH-=a et UTfad dhear gl
X 3. RRifRyar dhaet sitad @ oH gfghar aret el ety shear g1
X 4. fEferyan mufaen & ERM gafervfiy faurs ueref & Tudh # o1+ & SRt g 8l

Question ID : 630680896622

Option 1 ID : 6306803512456
Option 2 ID : 6306803512455
Option 3 ID : 6306803512457
Option 4 ID : 6306803512458

Q.11 -9 S=9-Ud hReh a=al A ifere Geieft srerrarsit & sifEw &t g™ & g St simar @2
Ans X 1.9 UG T

o 2. 99 9 ugd S
X 3. i # uafa gfg
X A UgaR ST

Question ID : 630680896620

Option 1 ID : 6306803512447
Option 2 ID : 6306803512449
Option 3 ID : 6306803512448
Option 4 ID : 6306803512450

Q.12 What term is used to describe the high-tech devices that produce speech for individuals with
limited or no means to communicate orally?

Ans X 1.Speech-enhancing gadgets
X 2. Augmented speech devices
#< 3. Digital communication tools

¥ 4. Voice Output Communication Aids

Question ID : 630680896635

Option 1 ID : 6306803512507
Option 2 ID : 6306803512510
Option 3 ID : 6306803512509
Option 4 ID : 6306803512508




Q.13 fewifeRmar (dyspraxia) & wuifae g aret ar g i wi9-8 §7

Ans X 1. g&H TYeR iere, aTep Teieft spfeAeat, A Taeaefierar sik gaag
X 2. oo Feeft sfeTsal, Hadt Hegeferdr, ga dieurd ok HieR drsr
X 3. Tohdl AT DI, 3T 0T, Hiex areT iR T0-ag
o 4. G&H HIeX I, Tehel HICR I, HIeR TSHT 3R T

Question ID : 630680896621

Option 1 ID : 6306803512451
Option 2 ID : 6306803512454
Option 3 ID : 6306803512452
Option 4 ID : 6306803512453

Q.14 faerain a=t, = sraor a1fa s oft nfae &, Y sasgararsit &l @1 A § JEauRT &
et fAerent & AR -3t v g 87

Ans X 1. i freror armfy
< 2. IUYh e ST hl AT
X 3. 3rafdes PR
o 4. 0T ORI gfderor ofk srea

Question ID : 630680896630

Option 1 1D : 6306803512488
Option 2 ID : 6306803512487
Option 3 ID : 6306803512490
Option 4 ID : 6306803512489

Q.15 urufie &R W gfearfd« a=ai &t ver & fog Pl d @ st wrifa srgifea 78 &2
Ans X 1. g & fog Rga SiR auiHretes A gam =Tl

25 2. arafae, 3 AR & Tgef 1 IuhT FHAT

X 3. 1fe & forg 3T S ofR =7é amfAe e

o 4. SR FRAET0T STETRT o foIY G2 IASHT UR 4T hfed T

Question ID : 630680896634

Option 1 ID : 6306803512504
Option 2 ID : 6306803512503
Option 3 ID : 6306803512505
Option 4 ID : 6306803512506

Q.16 HHTIHS fAeraimar aret et d sagr wdum & fog Refaf@a 7 @ wb-s i gand
T T 3?

Ans o 1. 3% 3G A oh 1Y ST AIER i el ATl
X 2. gaRet SR SR B yoTTelt S TgRIar shrishH TeT ATl
< 3. gETTa feeraaf ofk whan o et et Rftd sher R a9Tg 3@
X 4. STH-THAT R R S Feg AT 3R FRexdl Bl GRS

Question ID : 630680896632

Option 1 ID : 6306803512497
Option 2 ID : 6306803512495
Option 3 ID : 6306803512498
Option 4 ID : 6306803512496




Q.17 fFr=faf@a d @ w41, H9R TR o1 Y& Agayuf gee & et geaic TR (autistic)
=gl # fovar sirer 87

Ans o 1. HifE® yRIIaE
X 2. gohd AR R

X 3. g2y devrar
X 4 T1ugEH
Question ID : 630680896626
Option 1 ID : 6306803512472
Option 2 ID : 6306803512471
Option 3 ID : 6306803512473
Option 4 ID : 6306803512474
Q.18 aifAere: siffesw & arfdreriar Ara o= & yofta faerra & aga ugat 1 Y= &l o &1
T difesw @ difza a=ai # fafdre engafe sram=rang ar st & 1
Ans o 1. SIfARYA SR HRUT EHI T 8, AT hRUT, S NhY ST Tel TETHoT T8 8|
X 2. SRy o 8, Afh hRUT I 81
X 3. Ay 9 §, Afha RT3 B
25 4. AU 3R HROT G T § 3R HRT, SfNRU T Tgl TEteor g
Question ID : 630680896627
Option 1 ID : 6306803512476
Option 2 ID : 6306803512478
Option 3 ID : 6306803512477
Option 4 ID : 6306803512475

Q.19 uut (AAC) vienfieh & widar dfdr (message banking) # == enfae &?

Ans X 1. 4fH (phonemes) 3R T&a (allophones) ST IUTT ehch Seiari-eh &0 ¥ dTeh JIR e |
X 2. =afh & UTepfdeh SITaTST & TR Ueh i STTaTst S|
X 3. FtF-afi" (nonspeech) eafal st Repts AT 3R TGl AT
o 4. UTdeh SMTaTST SR TR & 1Y Herli ol f3foied ®U @ Replé e ok Sugha se

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680896619

6306803512444
6306803512445
6306803512443
6306803512446

Q.20 fa2iw smasgehdr aret s=di (CWSN) & forg Twmasft e A utsa=at s & fog g wrifa
Fa8?

Ans o 1. faiwst gRT fereRt it fARaR sifAaTge Teradt uer aA
X 2. dresggay (CWSN) &t s el @ srert e
X 3. g ufehar & ATAT-UdT St aTeR @1 ST
X 4. goft faenffai & forg wreehiepar fRveror fafdat et Syt e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896629

6306803512485
6306803512483
6306803512486
6306803512484




Section : Discipline5

Q.1 What type of assessment is used to evaluate a student's understanding during the learning

Ans

process and provide feedback for improvement?
«" 1. Formative assessment

#5 2. Diagnostic assessment
#< 3. Authentic assessment

X 4. Summative assessment

Question ID : 630680896645
Option 1 ID : 6306803512547
Option 2 ID : 6306803512549
Option 3 ID : 6306803512550
Option 4 ID : 6306803512548
Q.2 3t Tas gl & Arel & S ardfe siar g a1 71d, ag Puffa & & fog fra wiferdka wiemr
ohT ST AT ST 82
Ans X 1. qmar (ANOVA)
o 2. Tuder (T-test)
X 3. Frg-aif uderur (Chi-square test)
X 4. uforre fasdwor
Question ID : 630680896643
Option 1 ID : 6306803512541
Option 2 ID : 6306803512540
Option 3 ID : 6306803512539
Option 4 ID : 6306803512542
Q.3 siffefRes Righ R Sl fReraiTar aret gar auwni & g g a9+ = ge<t gt g =
8?
Ans X 1. 78 i< e
X 2. g A
X 3. uRar & Uy sTex ST
o 4. 7R gel
Question ID : 630680896639
Option 1 ID : 6306803512525
Option 2 ID : 6306803512526
Option 3 ID : 6306803512524
Option 4 ID : 6306803512523




Q.4 3ITT-3IEAT AT hl SRR AT fohd UehR ITdT &, ShT SIeTT T hgelTdl 87
Ans X 1. rer famme

X 2. afafamm

25 3. dchauan fasm

o 4. TR
Question ID :
Option 11D
Option 2 ID
Option 31D :
Option 41D :

630680896636

: 6306803512511
: 6306803512514
6306803512512
6306803512513

Q.5 What skill is particularly difficult for individuals with autism, making it hard for them to live

independently?
Ans  # 1. Problem-solving and planning

X 2. Driving

< 3. Cooking

X 4. Socializing
Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

: 630680896640

: 6306803512529
: 6306803512528
: 6306803512527
: 6306803512530

Q.6 Which teaching method emphasizes student-centered learning, where the instructor acts as a
facilitator rather than a lecturer?

Ans X 1.Direct instruction
5 2. Lecture-based instruction
" 3. Inquiry-based learning
/X 4. Traditional teaching

Question ID : 630680896644
Option 1 ID : 6306803512543
Option 2 ID : 6306803512545
Option 3 ID : 6306803512546
Option 4 ID : 6306803512544
Q.7 wwret HER & forg |ren e snuR @1 gt Rl Ageayguf 8?7
Ans X 1.3Tg dTeq H ATeefOeh G GHTHT e &
o 2. I TTHIoIch YU SR T AR I JTH S1aT &
X 3. gg gret Y a1 39T Bt gEEH | HeE il gl
X 4. TE STeichTen ATST 3R A% faor & Iuzihr &t gfaer &t &1
Question ID : 630680896637
Option 1 ID : 6306803512516
Option 2 ID : 6306803512518
Option 3 ID : 6306803512517
Option 4 ID : 6306803512515




Q.8 F-¥ =aeR e feremff & fam 7fdes garar o1 o & wond €7
ANs o 1.97E & g3 SR aR-TR el ST

X 2. vee reRfayT vefia e

X 3. Fen Y nfafafay & ok ®U & it @A)

7 4. Qerfores Iuafedat & IapEdn

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896641

6306803512532
6306803512533
6306803512534
6306803512531

Q.9 Frm ugfa Y ag Ay Far g Sit fheh sricer Ty | wad Sfde TR o aret A A gfedt @2

Ans 1. 9gclh
X 2. uRmR
X 3.91em
X 4. mrfede
Question ID : 630680896642
Option 1 ID : 6306803512537
Option 2 ID : 6306803512538
Option 3 ID : 6306803512535
Option 4 ID : 6306803512536
Q.10 w797 hetreit # uraTyo fALT0T I HRET ug] T 872
Ans X 1. faenffal & uerma, oo ok Gar i s R
X 2. 79T SRy (scaffolded practice) 3R RE ORT e & HETIdT et © S|
X 3. gan weieur ofiR Hfia Atefel uem s
o 4. 1T IR (AT o1 TR Hore o forg fRreror Jorifaar
Question ID : 630680896638
Option 1 ID : 6306803512520
Option 2 ID : 6306803512522
Option 3 ID : 6306803512519
Option 4 ID : 6306803512521
Section : Teaching Methodology
Q.1 Which of the following is NOT among Schwab’s five commonplaces of curriculum?
Ans X 1.Teacher
< 2. Student
«* 3. Government
5 4. Curriculum making
Question ID : 630680896656
Option 1 ID : 6306803512591
Option 2 ID : 6306803512592
Option 3 ID : 6306803512593

Option 4 1D :

6306803512594




Q.2 Which of the following is NOT the core of the discipline of education?
Ans X 1. History of education

" 2. Technology of education
X 3. Psychology of education
X 4. Philosophy of education

Question ID : 630680896653
Option 1 ID : 6306803512582
Option 2 ID : 6306803512581
Option 3 1D : 6306803512580
Option 4 ID : 6306803512579
Q.3 Which of the following is NOT the point of agreement between the behaviourist and social
cognitive theories of learning?
Ans X 1. They agree that experience is an important cause of learning.
" 2. They agree on the way environment and personal factors are described.
/5 3. They include the concept of reinforcement and punishment in their explanation of
behaviour.
X 4. They agree that feedback is important in promoting learning.
Question ID : 630680896651
Option 1 ID : 6306803512572
Option 2 ID : 6306803512571
Option 3 ID : 6306803512574
Option 4 ID : 6306803512573

Q.4 gaffége ufg-=ror yomeht & fPafofaa & @ fora wror 7 'gd faast & gern sik SR gwnrarsi
Td 3ia¥l wR faaR' anfaer 82

Ans X 1. 31T (Application)
X 2. ugfa (Presentation)
¥ 3. G (Association)
X 4. grr=fiaRor (Generalisation)

Question ID : 630680896655
Option 1 ID : 6306803512590
Option 2 ID : 6306803512587
Option 3 ID : 6306803512588
Option 4 ID : 6306803512589
Q.5 Which is the developmental task of adolescence period?
Ans  # 1. Achieving masculine or feminine social role
X 2. Learning sex difference and sexual modesty
/X 3. Adjusting to aging parents
X 4. Learning physical skills necessary for ordinary games
Question ID : 630680896659
Option 1 ID : 6306803512603
Option 2 ID : 6306803512605
Option 3 ID : 6306803512606
Option 4 ID : 6306803512604




Q.6 Which of the following is INCORRECT about simulation?
Ans X 1.Simulations promote the use of critical and evaluative thinking.

" 2. Simulation has an element of competition, and the goal is to win.
< 3.1t follows the principle of constructivist learning and teaching.

X 4. A simulation is a form of experiential learning.

Question ID : 630680896660
Option 1 ID : 6306803512609
Option 2 ID : 6306803512610
Option 3 ID : 6306803512608
Option 4 ID : 6306803512607
Q.7 wfgen e & ar & Fafafaa & @ sF-ar a8 @2
Ans o 1. A8 TISfchdl hl gl | UTHIUT ASTehdl oh fOeITerdl =1 ST dhl EHTEHT GRHT gdt &1
X 2. e TR W, amfior &5 F gent ht gor | o1fdres sfaat Arefaes femert & Sl €1
X 3. urafies faener &1 udtes sifafi<h auf arefohal il féar & ufa sifde goer s=mar &1
X 4. oy Rer SgwEr § oneft urfier) afgersy i g
Question ID : 630680896654
Option 1 ID : 6306803512586
Option 2 ID : 6306803512584
Option 3 ID : 6306803512585
Option 4 ID : 6306803512583
Q.8 &9 9 UN&IUT hi o1 Thg Hehdl @ W11 TG STHBRI U shed! g foh &4 3 39 gdteor § wamr &
aret 60% T @ dgar vef fhar §?
Ans X 1. fAeu-defeq uderor (Criterion-referenced test)
X 2. A1fe gteror (Diagnostic test)
X 3. Gehled TeroT (Integrative test)
«F 4. ach-gafofd udetor (Norm-referenced test)
Question ID : 630680896657
Option 1 ID : 6306803512598
Option 2 ID : 6306803512597
Option 3 ID : 6306803512595
Option 4 ID : 6306803512596

Q.9 urszgaf & wrwr &1 fR=faf@a & @ @i=-ar go Rigia mea 82

gl

& 2. ST fehr # TS Gk garaer |
< 3. e, SIfRTH Rl SgaR I T ATeAH B
X 4. T, TR fehte § aiTer St 81

Ans o 1. TV ST IR 3 U § HIST hadT [ASTOT H TeaTael! SR STR0T TR 9ATH o HIEIH I gl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680896652

6306803512578
6306803512575
6306803512577
6306803512576




Q.10 ardhey (dyslexia) & R & fA=faf@a § @ wia-ur 9w g 78 82

Ans

X 1. areeaehen § difgd i o fAfre wrer iere, fAgue uea § wfears gt 21
X 2. aradhed, Ak i Siia R TTfad el 8

72X 3. araddhed, HTT-STETRA SIfATH SIRAdT & |

o 4. araace, YA A Y & BROT EaT |

Question ID :
: 6306803512600
1 6306803512601
Option 31D :
Option 41D :

Option 11D
Option 2 ID

630680896658

6306803512599
6306803512602




